Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

State: Government of Chhattisgarh

Category: OBC

Sanction Number: N/6/1645/3/10/76942

Institute Name: GOVT. COLLEGE BHAKHARA

Sanction Date: 11/02/2017

Academic Year: 2016 - 17

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
121617	LALCHAND SAHU	Male	M. A./Hindi/I	Fresh	10	100	1000	150	1957	2107	3107
130460	JAGENDRA KUMAR SAHU	Male	PGDCA/Computer Application/I	Fresh	9	100	900	11000	3982	14982	15882
130554	LEELAGAR NISHAD	Male	D. C. A./Diploma in Computer application/I	Fresh	9	100	900	7000	3982	10982	11882
143952	PARMESHWAR SAHU	Male	PGDCA/Computer Application/I	Fresh	9	100	900	11000	3982	14982	15882
144394	UNEETA SAHU JUGDEHI	Female	PGDCA/Computer Application/I	Fresh	10	110	1100	11000	3982	14982	16082
145018	LEELA SEN	Female	M. A./Hindi/I	Fresh	9	110	990	150	1957	2107	3097
144646	DEENDAYAL SAHU	Male	D. C. A./Diploma in Computer application/I	Fresh	10	55	550	7000	3982	10982	11532
145379	RUDRANARAYAN SAHU	Male	M. A./Hindi/I	Fresh	9	100	900	150	1957	2107	3007
145421	KRISHNA KUMAR SAHU	Male	M. Com./Commerce/I	Fresh	9	100	900	150	1957	2107	3007
156277	roman lal sahu	Male	PGDCA/Computer Application/I	Fresh	9	100	900	11000	3982	14982	15882
185974	THANESHWARI SAHU	Female	M. Com./Commerce/I	Fresh	9	110	990	150	1957	2107	3097
150434	KUMARI YUWRANI	Female	M. Com./Commerce/I	Fresh	10	110	1100	150	2072	2222	3322
151000	LEKHA KUMARI	Female	M. A./Hindi/I	Fresh	10	110	1100	150	2072	2222	3322

Declaration:

Place : Date :

Government of Chhattisgarh



State: Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

action Number - N/6/16/15/2/10/760/12

Category: OBC

Sanction Number: N/6/1645/3/10/76942

Institute Name: GOVT. COLLEGE BHAKHARA

Sanction Date: 11/02/2017

Academic Year: 2016 - 17

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
145771	DEVANAND NISHAD	Male	D. C. A./Diploma in Computer application/I	Fresh	10	55	550	7000	3992	10992	11542
185149	VEENA SAHU	Female	M. A./Hindi/I	Fresh	9	110	990	150	2072	2222	3212
150244	indumati Sahu	Female	D. C. A./Diploma in Computer application/I	Fresh	10	55	550	7000	3982	10982	11532
183733	SHVETA SAHU	Female	PGDCA/Computer Application/I	Fresh	10	110	1100	11000	213	11213	12313
145823	AJEET RAM SAHU	Male	M. A./Hindi/I	Fresh	9	100	900	150	2072	2222	3122
189050	KHILESHWAR KUMAR SAHU	Male	M. A./Hindi/I	Fresh	9	100	900	150	2072	2222	3122
148563	PUSHPANJALI SAHU	Female	M. A./Hindi/I	Fresh	9	110	990	150	2072	2222	3212
174524	chandraprabha manikpuri	Female	PGDCA/Computer Application/I	Fresh	10	110	1100	11000	3982	14982	16082
512378	BHOJ RAJ DEWANGAN	Male	PGDCA/Computer Application/I	Fresh	10	100	1000	11000	3982	14982	15982
505538	MANOJ KUMAR SAHU	Male	PGDCA/Computer Application/I	Fresh	9	100	900	11000	3982	14982	15882
290206	GANGA SAHU	Female	PGDCA/Computer Application/I	Fresh	10	110	1100	11000	3982	14982	16082
302422	TIKESHWARI SAHU	Female	M. A./Economics/I	Fresh	9	110	990	150	2072	2222	3212
278718	TOMIN SINHA	Female	PGDCA/Computer Application/I	Fresh	10	110	1100	11000	3982	14982	16082

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Date : 11/02/2017

Sanction Number: N/6/1645/3/10/76942

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
277870	YASHODA SAHU	Female	PGDCA/Computer Application/I	Fresh	10	110	1100	11000	3982	14982	16082
292251	SEEMA BAIS	Female	M. Com./Commerce/I	Fresh	9	110	990	150	2072	2222	3212
369356	KUMARI KAWITA	Female	PGDCA/Computer Application/I	Fresh	9	110	990	11000	3982	14982	15972
592500	BHOJ RAJ SAHU	Male	PGDCA/Computer Application/I	Fresh	10	100	1000	11000	3762	14762	15762
570130	LOKESHWAR BAIS	Male	M. Com./Commerce/I	Fresh	9	100	900	150	2072	2222	3122
264858	DEEPAK KUMAR	Male	D. C. A./Diploma in Computer application/I	Fresh	10	55	550	7000	3982	10982	11532
514733	MANOJ KUMAR SAHU	Male	PGDCA/Computer Application/I	Fresh	10	100	1000	11000	3982	14982	15982
190282	DEVIKA SAHU	Female	PGDCA/Computer Application/I	Fresh	9	110	990	11000	3982	14982	15972
209032	Khomin Sahu	Female	M. A./Hindi/I	Fresh	10	110	1100	150	2072	2222	3322
524168	TEJ RAM	Male	M. Com./Commerce/I	Fresh	10	100	1000	150	2072	2222	3222
222466	TUKESHWAR SAHU	Male	D. C. A./Diploma in Computer application/I	Fresh	10	55	550	7000	3982	10982	11532
534184	UPENDRA KUMAR	Male	M. A./Hindi/I	Fresh	9	100	900	150	2072	2222	3122
515989	KHILENDRA KUMAR SAHU	Male	M. Com./Commerce/I	Fresh	9	100	900	150	2072	2222	3122

Declaration:

Place :

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Otato . Government of Officiallogal

Sanction Date : 11/02/2017

Sanction Number: N/6/1645/3/10/76942

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
194061	khileshwari sahu	Female	PGDCA/Computer Application/I	Fresh	10	110	1100	11000	3982	14982	16082
200920	VIMAL KUMAR SAHU	Male	D. C. A./Diploma in Computer application/I	Fresh	9	55	495	7000	3820	10820	11315
281600	DINESH KUMAR	Male	D. C. A./Diploma in Computer application/I	Fresh	10	55	550	7000	3982	10982	11532
312634	CHHABILA SAHU	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
426583	Sunil kumar	Male	M. Com./Commerce/I	Fresh	9	100	900	150	2072	2222	3122
532817	BHUPENDRA RIGRI	Male	PGDCA/Computer Application/I	Fresh	10	100	1000	11000	3982	14982	15982
602547	OM PRAKASH	Male	D. C. A./Diploma in Computer application/I	Fresh	10	55	550	7000	3982	10982	11532
618121	KAUSHIK KUMAR	Male	PGDCA/Computer Application/I	Fresh	10	100	1000	11000	3982	14982	15982
624406	SANAT KUMAR SAHU	Male	D. C. A./Diploma in Computer application/I	Fresh	9	55	495	7000	3982	10982	11477
629791	PRITAM LAL	Male	M. Com./Commerce/I	Fresh	9	100	900	150	2072	2222	3122
636620	LOKESHWAR SAHU	Male	B. A./Arts/I	Fresh	9	100	900	150	2112	2262	3162
683655	Hirendra Kumar no sar name	Male	D. C. A./Diploma in Computer application/I	Fresh	9	55	495	7000	3982	10982	11477
694866	ABHILASH KUMAR	Male	D. C. A./Diploma in Computer application/I	Fresh	10	55	550	7000	3982	10982	11532

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

otate. Covernment of ormattingar

Sanction Date: 11/02/2017

Sanction Number: N/6/1645/3/10/76942

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
695173	KU PADMANI	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
695189	DAGESHWARI SAHU	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
697331	TARANGITA SAHU	Female	PGDCA/Computer Application/I	Fresh	10	110	1100	11000	3982	14982	16082
710334	DUMESHWARI SAHU	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
716950	TOKESH KUMAR	Male	D. C. A./Diploma in Computer application/I	Fresh	10	55	550	7000	3982	10982	11532
717016	TEKRAM SAHU	Male	D. C. A./Diploma in Computer application/I	Fresh	10	55	550	7000	3982	10982	11532
720401	NAGESHWAR RAWAT	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
720651	POKHRAJ SAHU	Male	B. A./Arts/I	Fresh	9	100	900	150	1997	2147	3047
722286	PRASHANT KUMAR SAHU	Male	B. Sc./Science/I	Fresh	10	110	1100	150	2112	2262	3362
734385	MOHTAJ KUMAR SAHU	Male	B. Sc./Science/I	Fresh	9	100	900	150	2112	2262	3162
765078	Om Prakash	Male	M. Com./Commerce/I	Fresh	9	100	900	150	2072	2222	3122
820548	MANJEET KUMAR SAHU	Male	B. Sc./Science/I	Fresh	10	100	1000	150	1997	2147	3147
853013	CHUMESHWARI SAHU	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
857141	KUMUDANI SAHU	Female	D. C. A./Diploma in Computer application/I	Fresh	10	70	700	7000	3982	10982	11682
873716	ROSHANI SAHU	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Date : 11/02/2017

Sanction Number: N/6/1645/3/10/76942

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
887525	DAULAT PATEL	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
899089	MANISH KUMAR SAHU	Male	B. Sc./Science/I	Fresh	9	100	900	150	2112	2262	3162
908335	BHUMIKA SAHU	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
908474	BHOJ RAM SONKAR	Male	B. Com./Commerce/I	Fresh	10	100	1000	150	2112	2262	3262
910264	NIDHI SAHU	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
923815	Chitrarekha Sahu	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
934169	KU. SARASWATI SAHU	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
947635	UMEND NONAME	Male	B. Com./Commerce/I	Fresh	10	100	1000	150	2112	2262	3262
950482	HEMA SAHU	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
950612	VENUKA SAHU	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
952903	JHAMESHWARI TELI	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
954792	LAXMAN KUMAR SAHU	Male	B. Com./Commerce/I	Fresh	10	100	1000	150	2112	2262	3262
967568	SEEMA BAIS	Female	M. Com./Commerce/I	Fresh	10	110	1100	150	1957	2107	3207
969471	DAMIN SAHU	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
979107	GULSHAN KUMAR	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
980180	TAKESHWARI RAMESH NIRMALKAR	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
984719	POONAM BAIS	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Date: 11/02/2017

Sanction Number: N/6/1645/3/10/76942

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
984755	ENESHWARI TELI	Female	B. Com./Commerce/I	Fresh	10	110	1100	150	1997	2147	3247
988562	SOMRAJ SAHU	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
993646	CHANDRAPRABHA SAHU	Female	M. Com./Commerce/I	Fresh	10	110	1100	150	1957	2107	3207
994667	MONALI SAHU	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
995135	NAGESHWAR KUMAR	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
998735	GUNJA SAHU	Female	D. C. A./Diploma in Computer application/I	Fresh	10	70	700	7000	3982	10982	11682
1000114	DHARMENDRA KUMAR SAHU	Male	M. A./Hindi/I	Fresh	9	100	900	150	2072	2222	3122
1000295	NAGENDRA SAHU	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1000398	PRAMOD KUMAR	Male	B. Sc./Science/I	Fresh	9	100	900	150	2112	2262	3162
1000934	DEVIKA DEWANGAN	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1002228	HITESH KUMAR SAHU	Male	PGDCA/Computer Application/I	Fresh	9	100	900	11000	3982	14982	15882
1004839	TOMESHWARI SAHU	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1006662	TEJNATH NIRMALKAR	Male	B. A./Arts/I	Fresh	10	100	1000	150	2112	2262	3262
1006685	RAJKUMAR TETHWAR	Male	B. A./Arts/I	Fresh	10	100	1000	150	2112	2262	3262
1006974	YOGITA DEWANGAN	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
1007129	JHAMAN SINGH SAHU	Male	B. A./Arts/I	Fresh	10	100	1000	150	2112	2262	3262

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

•

Sanction Date: 11/02/2017

Sanction Number: N/6/1645/3/10/76942

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Type	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1007168	VANDANA SAHU	Female	B. A./Arts/I	Fresh	9	110	990	150	1997	2147	3137
1009714	MADHU SINHA	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1025297	CHANDRASHEKHAR SAHU	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1035264	LATA SAHU	Female	B. A./Arts/I	Fresh	9	110	990	150	1997	2147	3137
1036609	CHANDNI SAHU	Female	B. Com./Commerce/I	Fresh	9	110	990	150	1997	2147	3137
1036937	MOTIM BAIS	Female	M. A./Hindi/I	Fresh	10	110	1100	150	1957	2107	3207
1037136	SHARDA SAHU	Female	D. C. A./Diploma in Computer application/I	Fresh	9	70	630	7000	3982	10982	11612
1039583	SOHADRA TARAK	Female	M. A./Hindi/I	Fresh	10	110	1100	150	1957	2107	3207
1041577	PRIYANKA SAHU	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
1042136	LEKHIKA SAHU	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
1043988	NITESH KUMAR SAHU	Male	B. Com./Commerce/I	Fresh	9	100	900	150	2112	2262	3162
1046918	ANNU SEN	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1047068	krishna yadav	Male	B. Com./Commerce/I	Fresh	10	100	1000	150	2112	2262	3262
1048381	BEENA SAHU	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1050905	AJIT KUMAR	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1053034	OGESHWAR MARAR	Male	B. Com./Commerce/I	Fresh	10	105	1050	150	1902	2052	3102
1054207	SARASWATI SAHU	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247

Declaration:

Place :

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

· ·

Sanction Date: 11/02/2017

Sanction Number: N/6/1645/3/10/76942

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
596189	KUMARI KHILESHWARI	Female	PGDCA/Computer Application/I	Fresh	10	110	1100	11000	3982	14982	16082
635510	GAINDLAL SAHU	Male	B. A./Arts/I	Fresh	10	100	1000	150	2112	2262	3262
694908	TIKESHWAR SAHU	Male	D. C. A./Diploma in Computer application/I	Fresh	10	55	550	7000	3982	10982	11532
714325	PRAGATI SAHU	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
721838	BHARTI DEWANGAN	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
883963	POOJA SAHU	Female	B. A./Arts/I	Fresh	9	110	990	150	1997	2147	3137
885132	Manish Nosarname	Male	B. A./Arts/I	Fresh	9	100	900	150	2112	2262	3162
894981	OMPRAKASH SAHU	Male	B. Sc./Science/I	Fresh	9	100	900	150	2112	2262	3162
898915	DINESH KUMAR SAHU	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
899336	VEDPRAKASH SAHU	Male	B. Sc./Science/I	Fresh	9	100	900	150	2112	2262	3162
901639	GAYATRI SAHU	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
903634	PRIYANKA GAJENDRA	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
926924	RAKESH KUMAR	Male	B. Com./Commerce/I	Fresh	10	100	1000	150	2112	2262	3262
929269	DAKESH KUMAR SAHU	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
936558	SAROJ SAHU	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
936641	PARIKSHIT SAHU	Male	D. C. A./Diploma in Computer application/I	Fresh	10	55	550	7000	3982	10982	11532

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

otato: ooroniinonto: omiataogai

Sanction Date : 11/02/2017

Sanction Number: N/6/1645/3/10/76942

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
937336	MANOJ KUMAR	Male	B. A./Arts/I	Fresh	10	100	1000	150	2112	2262	3262
937496	CHHAYA BAIS	Female	B. Com./Commerce/I	Fresh	10	110	1100	150	1997	2147	3247
938363	YOGESHWARI SAHU	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
969265	DOMESHWARI SAHU	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
980124	SOMIN DERHU RAM SAHU	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1006978	OMPRAKASH SINHA	Male	B. A./Arts/I	Fresh	9	100	900	150	2112	2262	3162
1037196	PRAVIN KUMAR	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1041324	MANJULATA SAHU	Female	B. A./Arts/I	Fresh	9	110	990	150	1997	2147	3137
1049308	PALLAVI SAHU	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
1057697	YAMINI KUMARI	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
1059344	JYOTI SAHU	Female	B. A./Arts/I	Fresh	9	110	990	150	1997	2147	3137
1060612	ANJU SAHU	Female	B. Com./Commerce/I	Fresh	10	110	1100	150	1997	2147	3247
1063075	KULESHWAR SINGH	Male	D. C. A./Diploma in Computer application/I	Fresh	9	55	495	7000	3982	10982	11477
1063603	DIVAJ KUMAR SAHU	Male	B. A./Arts/I	Fresh	10	100	1000	150	2112	2262	3262
1063661	PRADEEP KUMAR SAHU	Male	B. Sc./Science/I	Fresh	9	100	900	150	2112	2262	3162
1065523	NILIMA SAHU	Female	B. A./Arts/I	Fresh	9	110	990	150	2112	2262	3252
1066697	RUPESH KUMAR SAHU	Male	B. A./Arts/I	Fresh	9	100	900	150	2112	2262	3162

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Date: 11/02/2017

Sanction Number: N/6/1645/3/10/76942

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1067993	DURGESHWARI SAHU	Female	D. C. A./Diploma in Computer application/I	Fresh	10	70	700	7000	3982	10982	11682
1068380	TAKESHWARI NISHAD	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1072446	JAYAPRABHA SAHU	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
1072872	TOPESHWAR SAHU	Male	B. Com./Commerce/I	Fresh	9	100	900	150	2112	2262	3162
1088068	POKHAN LAL SAHU	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1089374	DURGESHNANDNI SAHU	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1105860	TRIVENI SAHU	Female	B. A./Arts/I	Fresh	9	110	990	150	1997	2147	3137
1108102	SUNITA SAHU	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
1108564	MITHILA SAHU	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
1113946	YADRAM SAHU	Male	B. A./Arts/I	Fresh	10	100	1000	150	2112	2262	3262
1119127	AKASH KUMAR	Male	M. A./Hindi/I	Fresh	10	100	1000	150	2072	2222	3222
1119299	SURAJ KUMAR	Male	M. A./Hindi/I	Fresh	9	100	900	150	2072	2222	3122
1123140	PARMESHWAR KENWAT	Male	PGDCA/Computer Application/I	Fresh	10	100	1000	0	2072	2072	3072
1138976	BIRENDRA KUMAR	Male	M. A./Economics/I	Fresh	9	100	900	150	2072	2222	3122
1139345	DEVESH KUMAR GUWAL	Male	D. C. A./Diploma in Computer application/I	Fresh	10	55	550	7000	3982	10982	11532
1140935	YUWRANI SAHU	Female	M. Com./Commerce/I	Fresh	10	110	1100	150	1957	2107	3207

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/6/1645/3/10/76942

Institute Name: GOVT. COLLEGE BHAKHARA Sanction Date: 11/02/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1142074	TEJASWI KUMAR	Male	D. C. A./Diploma in Computer application/I	Fresh	10	55	550	7000	2177	9177	9727
1155374	YESENDRA KUMAR	Male	M. A./Hindi/I	Fresh	9	100	900	150	2072	2222	3122
1155636	PRAGYA GOSWAMI	Female	PGDCA/Computer Application/I	Fresh	10	110	1100	11000	3982	14982	16082
1191923	SAGAR GANJIR	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1221636	DEVANAND CHAKRADHARI	Male	PGDCA/Computer Application/I	Fresh	9	100	900	11000	3982	14982	15882
1222021	RITESH KUMAR	Male	B. Sc./Science/I	Fresh	9	100	900	150	2112	2262	3162
1222187	RAJKUMAR SONKAR	Male	M. A./Economics/I	Fresh	9	100	900	0	2072	2072	2972
1222265	HEERA LAL	Male	PGDCA/Computer Application/I	Fresh	10	100	1000	11000	3982	14982	15982
1222557	PREETI SINHA	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
1222766	CHUNESHWARI NISHAD	Female	M. A./Economics/I	Fresh	10	110	1100	150	1957	2107	3207
1223634	BHAGIRATHI SAHU	Male	B. Sc./Science/I	Fresh	10	100	1000	150	1997	2147	3147
1223924	POOJA SAHU	Female	B. A./Arts/I	Fresh	9	110	990	150	1997	2147	3137
1223997	BHUPENRA kumar	Male	B. Com./Commerce/I	Fresh	10	100	1000	150	2112	2262	3262
1225204	TULESHWARI YADAW	Female	M. A./Economics/I	Fresh	10	110	1100	0	1957	1957	3057
1225269	HARI RAM	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262

Declaration:

any other regular scholarship/superior the fact will be infinediately reported to the authority for eventual discontinuance of scholarship/superior from the period it is detected.

(Signature & Seal of Head of the Institution) Name (Capital Leters) :

Place:

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/6/1645/3/10/76942

Institute Name: GOVT. COLLEGE BHAKHARA Sanction Date: 11/02/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1225839	GAYATRI SAHU	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
1226037	RENUKA NISHAD	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
1226343	RAKESH KUMAR	Male	PGDCA/Computer Application/I	Fresh	9	100	900	11000	3982	14982	15882
1226376	CHANDRIKA NISHAD	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1226881	PRASHANT KUMAR	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1226892	MILAN KUMAR	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1227059	LOKESHWAR KUMAR SAHU	Male	PGDCA/Computer Application/I	Fresh	9	100	900	11000	3982	14982	15882
1227202	JIVESH KUMAR	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1228043	PREMLATA SAHU	Female	PGDCA/Computer Application/I	Fresh	10	110	1100	11000	3982	14982	16082
1229969	YOGITA SAHU	Female	D. C. A./Diploma in Computer application/I	Fresh	10	70	700	7000	3982	10982	11682
1230054	CHUMESHWARI SAHU	Female	D. C. A./Diploma in Computer application/I	Fresh	9	70	630	7000	3982	10982	11612
1230194	BOHRAN SAHU	Male	D. C. A./Diploma in Computer application/I	Fresh	9	55	495	7000	3982	10982	11477
1230217	FALENDRA KUMAR SAHU	Male	M. Com./Commerce/I	Fresh	9	100	900	150	2072	2222	3122
1230232	VIRENDRA KUMAR	Male	B. Sc./Science/I	Fresh	9	100	900	150	2112	2262	3162

Declaration:

Place : (Signature & Sec

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

•

Sanction Date: 11/02/2017

Sanction Number: N/6/1645/3/10/76942

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1230302	LEKHU RAM	Male	M. Com./Commerce/I	Fresh	9	100	900	150	2072	2222	3122
1230437	BHENESHWARI SINHA	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
1230518	YOGITA SAHU	Female	PGDCA/Computer Application/I	Fresh	10	110	1100	11000	3982	14982	16082
1230632	DURGA SAHU	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
1230974	CHITRAREKHA VAISHNAV	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
1231091	HRITU SINHA	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1231308	RUPCHAND SAHU	Male	D. C. A./Diploma in Computer application/I	Fresh	9	55	495	7000	3982	10982	11477
1232655	TIRENDRA KUMAR	Male	B. Sc./Science/I	Fresh	9	100	900	150	2112	2262	3162
1233201	BHIMESHWARI YADAV	Female	M. Com./Commerce/I	Fresh	10	110	1100	150	1957	2107	3207
1233234	PITAMBER SAHU	Male	M. A./Economics/I	Fresh	8	100	800	150	2072	2222	3022
1233830	TIJENDRA KUMAR	Male	B. A./Arts/I	Fresh	10	100	1000	150	1106	1256	2256
1233844	KUSUMLATA SAHU	Female	M. A./Hindi/I	Fresh	9	110	990	150	1957	2107	3097
1234013	GOMATI KASHYAP	Female	PGDCA/Computer Application/I	Fresh	10	110	1100	11000	3982	14982	16082
1234809	KENWARA SAHU	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1234955	TOMIN SAHU	Female	PGDCA/Computer Application/I	Fresh	10	110	1100	11000	3982	14982	16082

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: N/6/1645/3/10/76942

Sanction Date: 11/02/2017

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1234979	TUMIN SAHU	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1235257	ONKARPRASAD SAHU	Male	M. A./Hindi/I	Fresh	9	100	900	150	2072	2222	3122
1236257	RUDRPRATAP NISHAD	Male	B. Com./Commerce/I	Fresh	9	100	900	150	2112	2262	3162
1237316	AKANKSHA YADAV	Female	PGDCA/Computer Application/I	Fresh	9	110	990	11000	3982	14982	15972
1237709	MAHENDRA KUMAR	Male	B. Com./Commerce/I	Fresh	10	100	1000	150	2112	2262	3262
1237772	YOGENDRA NATH	Male	PGDCA/Computer Application/I	Fresh	10	100	1000	11000	3982	14982	15982
1238242	DAWESH KUMAR	Male	D. C. A./Diploma in Computer application/I	Fresh	9	55	495	7000	3982	10982	11477
1238316	RADHIKA SAHU	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1238654	JAGENDRA TELI	Male	B. A./Arts/I	Fresh	10	100	1000	150	2112	2262	3262
1239090	PRASHANT KUMAR	Male	B. Sc./Science/I	Fresh	9	100	900	150	2112	2262	3162
1239509	POOJA SAHU	Female	B. A./Arts/I	Fresh	9	110	990	150	1997	2147	3137
1239653	VARSHA SAHU	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
1239741	POSHAN KUMAR	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1240087	NIHAL SINGH SAHU	Male	M. Com./Commerce/I	Fresh	9	100	900	150	2072	2222	3122
1240476	TAKESHWAR KUMAR	Male	B. A./Arts/I	Fresh	9	100	900	150	2112	2262	3162
1240588	CHETNA MARAR	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

ŭ

Sanction Date: 11/02/2017

Sanction Number: N/6/1645/3/10/76942

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1241148	HORI LAL SAHU	Male	B. A./Arts/I	Fresh	10	100	1000	150	2112	2262	3262
1242272	SURAJ NISHAD	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1242516	PIYUSH KUMAR	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1242702	BHISHAM SINHA	Male	B. Com./Commerce/I	Fresh	9	100	900	150	2112	2262	3162
1243593	LEELADHAR SAHU	Male	B. Com./Commerce/I	Fresh	10	100	1000	150	2112	2262	3262
1244495	MONESH KUMAR	Male	D. C. A./Diploma in Computer application/I	Fresh	9	55	495	7000	3982	10982	11477
1245072	DOLI SAHU	Female	B. Com./Commerce/I	Fresh	9	110	990	150	1997	2147	3137
1245074	SUSHILA SAHU	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
1245920	KHOMAN LAL	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1247018	SANTOSH KUMAR	Male	B. A./Arts/I	Fresh	10	100	1000	150	2112	2262	3262
1247066	CHUMMAN SAHU	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1248215	NIRANJAN KUMAR SAHU	Male	PGDCA/Computer Application/I	Fresh	10	100	1000	11000	3982	14982	15982
1248922	PRATIBHA SAHU	Female	B. Com./Commerce/I	Fresh	10	110	1100	150	1997	2147	3247
1249623	RESHMI KASHYAP	Female	D. C. A./Diploma in Computer application/I	Fresh	10	70	700	7000	3982	10982	11682
1250223	POOJA SAHU	Female	B. Com./Commerce/I	Fresh	10	110	1100	150	1997	2147	3247
1250413	SONAM SAHU	Female	B. Com./Commerce/I	Fresh	10	110	1100	150	1997	2147	3247

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Otato . Government of Officiallogal

Sanction Date : 11/02/2017

Sanction Number: N/6/1645/3/10/76942

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1250491	DHANESHWARI SAHU	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1250520	JAGESHWARI SAHU	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
1251006	HEMSHANKAR NISHAD	Male	B. Com./Commerce/I	Fresh	10	100	1000	150	2112	2262	3262
1251324	CHURAN LAL	Male	B. A./Arts/I	Fresh	10	100	1000	150	2112	2262	3262
1252867	OKESH KUMAR	Male	B. Sc./Science/I	Fresh	9	100	900	150	2112	2262	3162
1252956	HIRENDRA KUMAR SINHA	Male	D. C. A./Diploma in Computer application/I	Fresh	9	55	495	7000	3982	10982	11477
1253196	CHEMAN LAL	Male	D. C. A./Diploma in Computer application/I	Fresh	9	55	495	7000	3982	10982	11477
1253206	PILESHWARI SAHU	Female	B. Com./Commerce/I	Fresh	10	110	1100	150	1997	2147	3247
1253332	SHRAVAN KUMAR	Male	D. C. A./Diploma in Computer application/I	Fresh	9	55	495	7000	3982	10982	11477
1253349	URMILA SAHU	Female	B. Com./Commerce/I	Fresh	10	110	1100	150	1997	2147	3247
1254132	AAKASH SAHU	Male	B. Com./Commerce/I	Fresh	10	100	1000	150	2112	2262	3262
1254469	TEEKAM RAM	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1254745	TIKESHWARI SAHU	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
1256203	TIKESHWAR SAHU	Male	B. A./Arts/I	Fresh	10	100	1000	150	2112	2262	3262
1257122	GOPI KISHAN	Male	B. A./Arts/I	Fresh	10	100	1000	150	2112	2262	3262
1257715	YUGALKISHOR SAHU	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Date: 11/02/2017

Sanction Number: N/6/1645/3/10/76942

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1257794	KESHAR SAHU	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1257804	VANDANA SAHU	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
1257974	CHANDRAKALA SINHA	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
1258849	YAMINEE SAHU	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
1260691	MENAKA SAHU	Female	B. A./Arts/I	Fresh	9	110	990	150	1997	2147	3137
1260882	MANISH SAHU	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1261763	TARINI SAHU	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1263615	Omprakash Sahu	Male	PGDCA/Computer Application/I	Fresh	10	100	1000	11000	3982	14982	15982
1264501	GOPIKRISHNA SAHU	Male	B. Com./Commerce/I	Fresh	10	100	1000	150	2112	2262	3262
1265215	PRADEEP KUMAR	Male	B. Sc./Science/I	Fresh	9	100	900	150	2112	2262	3162
1266123	HARISH KUMAR	Male	B. Com./Commerce/I	Fresh	10	100	1000	150	2112	2262	3262
1267092	PUSHPANJALI SAHU	Female	B. Com./Commerce/I	Fresh	10	110	1100	150	1997	2147	3247
1267974	ROSHAN LAL	Male	B. Com./Commerce/I	Fresh	9	100	900	150	2112	2262	3162
1268224	KUMUDANI SAHU	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
1269714	KEWALKRISHNA DEV	Male	B. Sc./Science/I	Fresh	9	100	900	150	2112	2262	3162
942288	PUSHPANJALI SAHU	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
947136	SHRADHA SAHU	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

otato: ooroninionto: onnattiogan

Sanction Date: 11/02/2017

Sanction Number: N/6/1645/3/10/76942

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
947443	MEENA DEWANGAN	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
947673	HEERA LAL NONAME	Male	B. A./Arts/I	Fresh	10	100	1000	150	2112	2262	3262
950133	SATISH KUMAR SAHU	Male	B. Com./Commerce/I	Fresh	10	100	1000	150	2112	2262	3262
977300	SONIT KUMAR BAIS	Male	B. Com./Commerce/I	Fresh	10	100	1000	150	2112	2262	3262
977719	DILESHWARI DEWANGAN	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
979020	YUVRAJ KUMAR YADAV	Male	B. A./Arts/I	Fresh	9	100	900	150	2112	2262	3162
979443	KAVITA VISHNU KUMAR DEWANGAN	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
980036	MONISHA TOSHAN SAHU	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
983688	RAKESH KUMAR SAHU	Male	B. Sc./Science/I	Fresh	9	100	900	150	2112	2262	3162
989365	RAKESH KUMAR SAHU	Male	B. Com./Commerce/I	Fresh	9	100	900	150	2112	2262	3162
993942	ANJU SAHU	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
994051	KULESHWAR SINGH SAHU	Male	M. Com./Commerce/I	Fresh	9	100	900	150	2072	2222	3122
994458	KAVITA SOAN	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
994622	MADHU PATEL	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
994693	MANISHA SAHU	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
994905	DANENDRA KUMAR	Male	B. Sc./Science/I	Fresh	9	100	900	150	2112	2262	3162
998558	SHUBHAM KUMAR	Male	B. Sc./Science/I	Fresh	9	100	900	150	2112	2262	3162

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Date : 11/02/2017

Sanction Number: N/6/1645/3/10/76942

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1000894	POONAM SAHU	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1006574	PREETI NISHAD	Female	B. A./Arts/I	Fresh	9	110	990	150	1997	2147	3137
1006951	YUVRAJ SEN	Male	B. A./Arts/I	Fresh	10	100	1000	150	2112	2262	3262
1007203	MONIKA SINHA	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
1007284	DURGESHWARI SAHU	Female	B. Com./Commerce/I	Fresh	10	110	1100	150	2112	2262	3362
1016194	LEENA SAHU	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
1020867	DILESHWARI SAHU	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
1020936	GEETANJALI SAHU	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
1023915	AARTI SAHU	Female	D. C. A./Diploma in Computer application/I	Fresh	10	70	700	7000	3982	10982	11682
1025069	DEVKUMAR SAHU	Male	B. A./Arts/I	Fresh	10	100	1000	150	2112	2262	3262
1035380	KANCHAN DEWANGAN	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1035448	YOGESH KUMAR	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1036943	VAISHAKHI GOSWAMI	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
1037064	VIKRAM SINGH	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1037341	BHAJAN LAL SAHU	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1041336	HEERA SAHU	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
1041355	SAHIL KUMAR DHOBI	Male	B. Com./Commerce/I	Fresh	9	100	900	150	2112	2262	3162

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

_

Sanction Date : 11/02/2017

Sanction Number: N/6/1645/3/10/76942

Applications Type : Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1042285	PADMANI SAHU	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
1042348	BIRENDRA KUMAR SAHU	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1042356	TARUN KUMAR SAHU	Male	B. A./Arts/I	Fresh	10	110	1100	150	2112	2262	3362
1042752	YOGESH KUMAR` SAHU	Male	B. Sc./Science/I	Fresh	9	100	900	150	2112	2262	3162
1045097	PREETI SAHU	Female	B. A./Arts/I	Fresh	9	110	990	150	1997	2147	3137
1048338	RANJANA SAHU	Female	B. A./Arts/I	Fresh	9	110	990	150	1997	2147	3137
1048361	VASUKI SAHU	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
1048367	ANAMIKA SAHU	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
1049536	SHIVRANI NISHAD	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
1050869	VIKAS KUMAR	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1052950	LAXMAN KUMAR	Male	B. Com./Commerce/I	Fresh	9	100	900	150	2112	2262	3162
1060813	MONIKA TELI	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1061994	RAJU KUMAR SAHU	Male	B. A./Arts/I	Fresh	9	100	900	150	2112	2262	3162
1062782	UMESHWARI NONAME	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1063063	SHASHIPRABHA SAHU	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1070377	TOSHAN KUAMRI	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
1101594	ishwar yadav	Male	B. A./Arts/I	Fresh	9	100	900	150	2112	2262	3162
1105857	NIRJA SAHU	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

•

Sanction Date: 11/02/2017

Sanction Number: N/6/1645/3/10/76942

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1120750	ANJALI SAHU	Female	D. C. A./Diploma in Computer application/I	Fresh	10	70	700	7000	3982	10982	11682
1126232	VIKAS SINGH	Male	M. A./Hindi/I	Fresh	9	100	900	150	2072	2222	3122
1249751	Bedprakash sinha	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1268415	GEETANJALEE SAHU	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
1269908	TARINI SAHU	Female	B. A./Arts/I	Fresh	9	110	990	150	1997	2147	3137
1269945	AV INASH KUMAR SAHU	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1270104	GAURI CHAKRADHARI	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
1270891	OMESHVARI SINHA	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
1272443	GHANSHYAM SAHU	Male	D. C. A./Diploma in Computer application/I	Fresh	9	55	495	7000	3982	10982	11477
1273478	OM PRAKASH SAHU	Male	B. Sc./Science/I	Fresh	9	100	900	150	2112	2262	3162
1273718	MORAJDHVAJ SAHU	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1274817	VASUDEV SAHU	Male	PGDCA/Computer Application/I	Fresh	9	100	900	11000	3982	14982	15882
1274971	RAJESH KUMAR	Male	B. A./Arts/I	Fresh	10	100	1000	150	2112	2262	3262
1277324	YOGESH KUMAR	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1277326	LOKESHWARI SAHU	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
1277566	KAVITA DEWANGAN	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247

Declaration:

Place : Date :

.

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

otato: ooroniinonto: omiataogai

Sanction Date : 11/02/2017

Sanction Number: N/6/1645/3/10/76942

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1278060	GHANSHYAM SAHU	Male	B. Com./Commerce/I	Fresh	10	100	1000	150	2112	2262	3262
1278809	DEMESHWARI SAHU	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1279365	YOGESHWAR SONKAR	Male	B. Sc./Science/I	Fresh	9	100	900	150	2112	2262	3162
1279558	JITENDRA KUMAR	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1281158	MAYANK KUMAR SINHA	Male	B. Com./Commerce/I	Fresh	10	100	1000	150	2112	2262	3262
1282793	UUTTAM KUMAR	Male	B. A./Arts/I	Fresh	10	100	1000	150	2112	2262	3262
1285290	SAVITA DEWANGAN	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1286238	SOMIN SAHU	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1286513	GULSHAN KUMAR SAHU	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1288254	BALDAW NISHAD	Male	B. Sc./Science/I	Fresh	9	100	900	150	2112	2262	3162
1288490	KISAN KUMAR	Male	B. Com./Commerce/I	Fresh	9	100	900	150	2112	2262	3162
1288633	KHILESHWARI SAHU	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1288816	HIRENDRA KUMAR	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1288983	DEV KUMARI	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1289617	AVAN KUMAR	Male	B. A./Arts/I	Fresh	9	100	900	150	2112	2262	3162
1289620	GITANJALI SINHA	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1290707	KAJAL SAHU	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1290937	SHUBHAM KUMAR SAHU	Male	B. Sc./Science/I	Fresh	9	100	900	150	2112	2262	3162

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

· ·

Sanction Date: 11/02/2017

Sanction Number: N/6/1645/3/10/76942

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1292672	KUSUMLATA SAHU	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1293497	BHUPESH KUMAR	Male	B. Sc./Science/I	Fresh	10	100	1000	150	2112	2262	3262
1293981	MEDHA SAHU	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1293995	SUMITRA YADAW	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
1294188	TAKESHWARI SAHU	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
1296502	YAMINI SAHU	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
1296899	CHOWAN RAM	Male	B. Com./Commerce/I	Fresh	9	100	900	150	2112	2262	3162
1297254	KUMARI ITESHWARI	Male	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1297574	KUMARI ITESHWARI	Female	B. Sc./Science/I	Fresh	10	110	1100	150	1997	2147	3247
1298398	DEEP KUMAR	Male	B. Com./Commerce/I	Fresh	9	100	900	150	2112	2262	3162
1299355	NEELAKAMAL SAWARE	Male	B. Sc./Science/I	Fresh	9	100	900	150	2112	2262	3162
1299424	PARIKSHIT SAHU	Male	B. A./Arts/I	Fresh	10	1007	10070	150	2112	2262	12332
1300379	BHUPENDRA KUMAR	Male	B. A./Arts/I	Fresh	10	100	1000	150	2112	2262	3262
1302104	NILIMA SAHU	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
1302313	BHANUPRATAP SAHU	Male	B. Com./Commerce/I	Fresh	9	100	900	150	2112	2262	3162
1302316	DURGESHWARI SAHU	Female	B. Sc./Science/I	Fresh	9	110	990	150	1997	2147	3137
1302328	KAUSHAL KUMAR	Male	B. Com./Commerce/I	Fresh	10	100	1000	150	2112	2262	3262
1302347	TAMRADHVAJ SINHA	Male	B. Com./Commerce/I	Fresh	10	100	1000	150	2112	2262	3262

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

· ·

Sanction Date: 11/02/2017

Sanction Number: N/6/1645/3/10/76942

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1303015	RAHUL KUMAR	Male	B. Com./Commerce/I	Fresh	9	100	900	150	2112	2262	3162
1304343	KOMESH KUMAR	Male	B. Sc./Science/I	Fresh	9	100	900	150	2112	2262	3162
1305980	PURNIMA SAHU	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
1306317	KHILAWAN NISHAD	Male	B. A./Arts/I	Fresh	9	100	900	150	2112	2262	3162
1306322	CHAMMAN LAL	Male	B. Sc./Science/I	Fresh	9	100	900	150	2112	2262	3162
1309801	DEEPAK KUMAR SAHU	Male	B. A./Arts/I	Fresh	10	100	1000	150	2112	2262	3262
1309932	NAGESHWARI NISHAD	Female	B. A./Arts/I	Fresh	10	110	1100	150	1997	2147	3247
1315958	NARENDRA KUMAR	Male	B. Sc./Science/I	Fresh	10	100	1000	150	1902	2052	3052
						Total :	383910	683950	923042	1606992	1990902

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

•

Sanction Date: 11/02/2017

Sanction Number: R/6/1645/3/10/76498

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
114113	Tikeshwar Sahu	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
117867	TRILOKINATH SAHU	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
139194	KHILESHWARI SAHU	Female	M. A./Hindi/III	Renewal	10	120	1200	150	1957	2107	3307
143285	Rukhmani Sahu	Female	B. Sc./Science/II	Renewal	10	115	1150	150	1787	1937	3087
143888	MANISH KUMAR	Male	M. Com./Commerce/II	Renewal	10	105	1050	150	2072	2222	3272
143683	KUSUM SAHU	Female	M. A./Hindi/III	Renewal	10	120	1200	150	1957	2107	3307
143291	Umadevi Sahu	Female	B. Sc./Science/II	Renewal	10	115	1150	150	1787	1937	3087
143187	Khushabu Sahu	Female	B. Sc./Science/II	Renewal	10	115	1150	150	1787	1937	3087
142628	Uma sahu	Female	B. A./Arts/III	Renewal	10	115	1150	150	1787	1937	3087
145602	ANURADHA TELI	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1802	1952	3102
145700	BHUPENDRA KUMAR	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
144609	KUNDAN SAHU	Female	M. A./Hindi/III	Renewal	10	120	1200	150	1957	2107	3307
151481	RUPAM SINHA	Male	M. Com./Commerce/II	Renewal	10	100	1000	150	2072	2222	3222
145678	DAMINI SAHU	Female	M. A./Economics/III	Renewal	10	115	1150	150	1802	1952	3102
144989	NANDINI SAHU	Female	M. A./Hindi/II	Renewal	10	110	1100	150	1957	2107	3207
144749	PANKAJ KUMAR	Male	M. Com./Commerce/II	Renewal	10	105	1050	150	1957	2107	3157
148944	TAMIN SAHU	Female	M. A./Economics/III	Renewal	9	120	1080	150	2072	2222	3302

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: R/6/1645/3/10/76498

Sanction Date: 11/02/2017

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
144563	SUMESHWARI TELI	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1787	1937	3087
150626	ABHISHEK SAHU	Male	M. Com./Commerce/II	Renewal	10	100	1000	150	2072	2222	3222
153919	ROHINEE PATEL	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1902	2052	3202
145535	VINITA SAHU	Female	B. A./Arts/III	Renewal	10	115	1150	150	1787	1937	3087
200850	ARUNA SAHU	Female	B. A./Arts/III	Renewal	9	115	1035	150	1902	2052	3087
154891	JAYA SAHU	Female	B. A./Arts/III	Renewal	10	115	1150	150	1902	2052	3202
171279	CHANDRASHEKHAR SAHU	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
154430	VIDYA SAHU	Female	B. A./Arts/III	Renewal	10	115	1150	150	1902	2052	3202
161326	MEERA SAHU	Female	B. A./Arts/III	Renewal	10	115	1150	150	1902	2052	3202
171074	VEDPRAKASH SAHU	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
180600	laxmikant sahu	Male	B. Sc./Science/II	Renewal	9	105	945	150	1902	2052	2997
157549	KESHAW RAM SAHU	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
167132	PREMLATA BAIS	Female	M. A./Hindi/II	Renewal	10	110	1100	150	2072	2222	3322
165602	OM KUMARI	Female	M. A./Hindi/III	Renewal	10	120	1200	150	2072	2222	3422
206235	SUNITA SINHA	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1902	2052	3202
174378	manjusha sahu	Female	B. Sc./Science/II	Renewal	9	115	1035	150	1902	2052	3087
208449	DOMAN LAL SAHU	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
191715	TOMIN SAHU	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1902	2052	3202

Declaration:

Place:

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

•

Sanction Date: 11/02/2017

Sanction Number: R/6/1645/3/10/76498

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
208764	Dali Sahu	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1902	2052	3202
169192	HEMA SAHU	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1902	2052	3202
176575	Umendra Kumar Sahu	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
201422	MANISHA SINHA	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1902	2052	3202
161642	KHUSHABOO SAHU	Female	B. A./Arts/III	Renewal	10	115	1150	150	1902	2052	3202
170363	Khileshwar Prasad Sinha	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
175959	HIRENDRA KUMAR SAHU	Male	B. Sc./Science/II	Renewal	9	105	945	150	1902	2052	2997
188944	Daneshwar Vishwkarma	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
190186	VASU KUMAR	Male	B. A./Arts/II	Renewal	9	105	945	150	2112	2262	3207
208535	TEJESH KUMAR SAHU	Male	B. Sc./Science/II	Renewal	9	105	945	150	1902	2052	2997
210146	DAMINI SAHU	Female	B. A./Arts/III	Renewal	10	115	1150	150	1902	2052	3202
213442	MANJU NONAME	Female	B. Com./Commerce/II	Renewal	10	115	1150	150	1902	2052	3202
214747	DILESHWARI SAHU	Female	B. A./Arts/III	Renewal	9	115	1035	150	1902	2052	3087
220074	SANDHYA DEWANGAN	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1902	2052	3202
220486	RANJANA SAHU	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1902	2052	3202
220546	INDRANI SAHU	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1902	2052	3202
222001	KENESHWARI SAHU	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1902	2052	3202
222406	SUDHA SAHU	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1902	2052	3202

Declaration:

Place:

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Date: 11/02/2017

Sanction Number: R/6/1645/3/10/76498

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
227048	TEMIN SINHA	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1902	2052	3202
240110	RUPENDRA KUMAR NISAD	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
240650	CHHATRAPAL BAIS	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
242444	PREETI SAHU	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1902	2052	3202
243974	NANDINI SAHU	Female	B. A./Arts/III	Renewal	10	115	1150	150	1902	2052	3202
244768	SUDAMA SAHU	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
252598	CHHANYA SAHU	Female	B. Sc./Science/III	Renewal	10	115	1150	150	0	150	1300
254229	VATSALA KUMARI	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1787	1937	3087
279747	RAJESH KUMAR NISHAD	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
280085	KULDEEP KUMAR SAHU	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
287188	NAMSINGH SAHU	Male	B. A./Arts/II	Renewal	9	105	945	150	1902	2052	2997
412783	NAVNEET KUMAR	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
426597	Arvind kumar	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
426606	Tarachand Sahu	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
438405	KIRTI KUMAR SAHU	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
440131	SITARAM SAHU	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
459435	SATISH KUMAR	Male	B. A./Arts/II	Renewal	9	105	945	150	1902	2052	2997
459459	PRAFULLA KUMAR DEWANGAN	Male	B. Com./Commerce/II	Renewal	10	105	1050	150	1902	2052	3102

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Date: 11/02/2017

Sanction Number: R/6/1645/3/10/76498

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
484625	GITESH KUMAR	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
511585	JHARNA SAHU	Female	M. Com./Commerce/II	Renewal	10	120	1200	150	1957	2107	3307
519356	KUMARI MOTIM	Female	B. A./Arts/IV	Renewal	10	115	1150	150	1787	1937	3087
552045	ARJUN SINHA	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
556539	KUMARI SOHADRA	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
565386	NILKANTH SAHU	Male	B. A./Arts/II	Renewal	9	105	945	150	1902	2052	2997
596653	NEETU YADAW	Female	B. A./Arts/III	Renewal	10	115	1150	150	1902	2052	3202
611011	MOHIT KUMAR SAHU	Male	B. A./Arts/II	Renewal	9	105	945	150	1902	2052	2997
619055	DEVENDRA SAHU	Male	B. A./Arts/II	Renewal	9	105	945	150	1902	2052	2997
634782	KALPANA GANJEER	Female	B. A./Arts/II	Renewal	9	115	1035	150	1902	2052	3087
638197	RAMESHWARI KUMHAR	Female	B. A./Arts/II	Renewal	9	115	1035	150	1902	2052	3087
638213	LEKESH KUMAR	Male	B. A./Arts/II	Renewal	9	105	945	150	1902	2052	2997
638219	KHILESHWARI SAHU	Female	B. A./Arts/II	Renewal	9	115	1035	150	1902	2052	3087
638242	CHUNESHWAR SAHU	Male	B. Sc./Science/II	Renewal	9	105	945	150	1902	2052	2997
656861	MANOJ KUMAR SAHU	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
657204	BHANUPRATAP SAHU	Male	B. Sc./Science/II	Renewal	9	105	945	150	1902	2052	2997
661665	LAXMI SAHU	Female	B. Com./Commerce/II	Renewal	10	115	1150	150	1902	2052	3202
664275	DEVKI SAHU	Female	B. Sc./Science/II	Renewal	9	115	1035	150	1902	2052	3087

Declaration:

Place:

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

•

Sanction Date: 11/02/2017

Sanction Number: R/6/1645/3/10/76498

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
664310	BHOMESHWARI SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
666926	SURESH KUMAR SAHU	Male	B. Sc./Science/II	Renewal	10	105	1050	150	1902	2052	3102
671975	HEMLATA SAHU	Female	B. Sc./Science/II	Renewal	10	115	1150	150	1787	1937	3087
674714	KHEMURAM SAHU	Male	B. Com./Commerce/III	Renewal	10	105	1050	150	1902	2052	3102
678916	BIRNDRA KUMAR SAHU	Male	M. A./Economics/III	Renewal	10	105	1050	150	2072	2222	3272
679262	Jageshwari Chakradhari	Female	B. Com./Commerce/III	Renewal	10	115	1150	150	1787	1937	3087
688539	TULESHWAR KUMBHKAR	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
688915	VISHWASHA SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
693992	Umend ram	Male	B. Com./Commerce/II	Renewal	10	105	1050	150	1902	2052	3102
694139	Trishala sahu	Female	B. A./Arts/II	Renewal	9	115	1035	150	1902	2052	3087
694859	KHILESHWARI SAHU	Female	B. Sc./Science/II	Renewal	9	115	1035	150	1902	2052	3087
694895	KIRAN PATEL	Female	B. Sc./Science/II	Renewal	10	115	1150	150	1787	1937	3087
695438	PANKAJ PRAKASH SAHU	Male	B. A./Arts/II	Renewal	10	105	1050	150	1902	2052	3102
695724	KHILESHWAR KUMAR SAHU	Male	B. A./Arts/II	Renewal	10	105	1050	150	1902	2052	3102
696319	Tameshwari sahu	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
699433	THAN SINGH SAHU	Male	B. A./Arts/II	Renewal	10	105	1050	150	1902	2052	3102
699601	LOKESH KUMAR SAHU	Male	B. Sc./Science/II	Renewal	10	105	1050	150	1902	2052	3102
699720	Hrishi Kumar Sahu	Male	B. Sc./Science/II	Renewal	10	105	1050	150	1902	2052	3102

Declaration:

Place :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

•

Sanction Date: 11/02/2017

Sanction Number: R/6/1645/3/10/76498

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
703873	LUKESHWARI SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
704045	LOKITA SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
705076	SAVITA SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
705138	Hemant Kumar Sahu	Male	B. Sc./Science/II	Renewal	10	105	1050	150	1902	2052	3102
706395	BHISHAM KUMAR	Male	B. Sc./Science/II	Renewal	10	105	1050	150	1902	2052	3102
708104	SEEMA SAHU	Female	B. Sc./Science/II	Renewal	10	115	1150	150	1787	1937	3087
710969	THAMESHWARI CHAKRADHARI	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
717340	RUPENDRA KUMAR	Male	B. A./Arts/II	Renewal	10	105	1050	150	1902	2052	3102
717419	TRIVENI SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
717446	HOMESHWARI SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
220841	LAXMAN DEWANGAN	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
225215	YUVRAJ SAHU	Male	B. Sc./Science/III	Renewal	9	105	945	150	1902	2052	2997
227083	yogendra kumar	Male	B. A./Arts/III	Renewal	9	105	945	150	1902	2052	2997
243500	DIVYA SAHU	Female	B. A./Arts/II	Renewal	9	115	1035	150	1902	2052	3087
245192	HUPENDRA KUMAR SAHU	Male	B. Com./Commerce/III	Renewal	8	105	840	150	1902	2052	2892
245499	SHESH SAHU	Female	B. Com./Commerce/III	Renewal	10	115	1150	150	1902	2052	3202
245569	DOMESHWARI SAHU	Female	B. Com./Commerce/III	Renewal	10	115	1150	150	1902	2052	3202
260864	Pritam sahu	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Date : 11/02/2017

Sanction Number: R/6/1645/3/10/76498

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
265774	GIRJASHANKAR SAHU	Male	B. Com./Commerce/III	Renewal	10	105	1050	150	1902	2052	3102
273668	PUNARAD RAM CHAKRADHARI	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
275395	MUKESH KUMAR	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
279616	PEMIN SINHA	Female	B. A./Arts/III	Renewal	10	115	1150	150	1902	2052	3202
281474	TAKESHWARI SAHU	Female	B. A./Arts/III	Renewal	10	115	1150	150	1902	2052	3202
282031	CHOMESHWAR KUMAR	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
282192	MUKESH KUMAR	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
286307	DAYARAM SAHU	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
286580	DANESHWAR SAHU	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
291459	GANGA SAHU	Female	B. Sc./Science/II	Renewal	9	115	1035	150	1902	2052	3087
320208	PRIYANKA SAHU	Female	B. A./Arts/III	Renewal	10	115	1150	150	1902	2052	3202
333422	KIRTAN KUMAR SAHU	Male	B. A./Arts/III	Renewal	9	105	945	150	1902	2052	2997
357395	SANGEETA SAHU	Female	B. A./Arts/III	Renewal	10	115	1150	150	1902	2052	3202
367075	Lalita No Name	Female	B. A./Arts/III	Renewal	10	115	1150	150	1902	2052	3202
410007	preeti sinha	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1787	1937	3087
427630	Reetesh kumar	Male	B. A./Arts/III	Renewal	10	115	1150	150	1902	2052	3202
459488	MOHNI BAIS	Female	B. A./Arts/III	Renewal	10	115	1150	150	1902	2052	3202
459552	BHUNESHWARI SAHU	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1787	1937	3087

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Date: 11/02/2017

Sanction Number: R/6/1645/3/10/76498

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
484708	HEMLATA SAHU	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1787	1937	3087
484798	JHAMENDRA KUMAR	Male	B. Sc./Science/II	Renewal	9	105	945	150	1902	2052	2997
678375	INDRANI SAHU	Female	B. Sc./Science/II	Renewal	10	115	1150	150	1787	1937	3087
696437	CHANDRIKA SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
710818	SHAILENDRA SAHU	Male	B. Com./Commerce/II	Renewal	10	105	1050	150	1902	2052	3102
717325	ROHIT KUMAR	Male	B. A./Arts/II	Renewal	10	105	1050	150	1902	2052	3102
717697	TRIPTI SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
719113	JHAMESHWARI SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
720348	MAINABATI SAHU	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1787	1937	3087
720359	MADHU SAHU	Female	B. Com./Commerce/II	Renewal	10	115	1150	150	1787	1937	3087
720396	MUNESH KUMAR KURMI	Male	B. Sc./Science/II	Renewal	10	105	1050	150	1902	2052	3102
720682	REKHA SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
721460	NEERA PATEL	Female	B. Sc./Science/II	Renewal	10	115	1150	150	1787	1937	3087
721663	LEMAN KUMAR	Male	B. Sc./Science/II	Renewal	10	105	1050	150	1902	2052	3102
722184	TOMAN LAL SAHU	Male	B. Sc./Science/II	Renewal	10	105	1050	150	1902	2052	3102
723750	DIPEEKA SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
737012	KU. MANISHA SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
751251	YUGESH KUMAR SAHU	Male	B. Com./Commerce/II	Renewal	10	105	1050	150	1902	2052	3102

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

•

Sanction Date: 11/02/2017

Sanction Number: R/6/1645/3/10/76498

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
757121	PRIYANKA SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
783862	NANDANI YADAW	Female	B. Sc./Science/II	Renewal	10	115	1150	150	1787	1937	3087
788621	KUMUDINI SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
857068	SHISHUPAL SAHU	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
873169	AJAY KUMAR	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
959226	MITHILESH KUMAR	Male	B. Sc./Science/II	Renewal	10	105	1050	150	1902	2052	3102
967091	RAKESH KUMAR SINHA	Male	B. Com./Commerce/II	Renewal	10	105	1050	150	1902	2052	3102
975614	YORENDRA KUMAR	Male	M. A./Hindi/II	Renewal	10	100	1000	150	2072	2222	3222
976611	PUNESHWAR SAHU	Male	M. A./Economics/III	Renewal	10	100	1000	150	2072	2222	3222
979382	TIKESHWAR SAHU	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
980993	TUMESHWARI BAIS	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1787	1937	3087
982909	HRIDAY KUMAR NISHAD	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
984649	SITESHWARI TELI	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
989646	KHUMAN SAHU	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
990496	DAGESHWARI SAHU	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1787	1937	3087
1000971	RENUKA SAHU	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1787	1937	3087
1001550	MOHNI SAHU	Female	M. A./Hindi/II	Renewal	10	110	1100	150	1957	2107	3207
1001883	KHILESHWARI SAHU	Female	M. A./Hindi/II	Renewal	10	110	1100	150	1957	2107	3207

Declaration:

Place:

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Date : 11/02/2017

Sanction Number: R/6/1645/3/10/76498

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1002046	NUTAN KUMAR SAHU	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
1002094	LILESHWARI SINHA	Female	B. Com./Commerce/III	Renewal	10	115	1150	150	1787	1937	3087
1002532	DUMESH KUMAR	Male	B. Sc./Science/II	Renewal	10	105	1050	150	1902	2052	3102
1004216	POKH RAJ SAHU	Male	B. A./Arts/II	Renewal	10	105	1050	150	1902	2052	3102
1004670	THANESHWAR KUMAR	Male	B. Com./Commerce/III	Renewal	10	105	1050	150	1902	2052	3102
1007167	CHAMELI SAHU	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1787	1937	3087
1016393	NEETU NISHAD	Female	B. Sc./Science/II	Renewal	10	115	1150	150	1787	1937	3087
1020222	RITU KUMAR	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
1021424	CHETNA SEN	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1787	1937	3087
1021935	DAMINI SAHU	Female	B. A./Arts/III	Renewal	10	115	1150	150	1787	1937	3087
1025670	DEVKI YADAV	Female	B. A./Arts/III	Renewal	10	115	1150	150	1787	1937	3087
1037808	THANESHWAR CHAKRADHARI	Male	B. A./Arts/II	Renewal	10	105	1050	150	1902	2052	3102
1039599	ARTI SEN	Female	M. A./Economics/III	Renewal	10	120	1200	150	1957	2107	3307
1041576	TARINI SAHU	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1787	1937	3087
1112510	AJAY KUMAR	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
1112764	TARACHAND SAHU	Male	B. A./Arts/II	Renewal	10	105	1050	150	1902	2052	3102
1113434	OMLATA SAHU	Female	B. Sc./Science/II	Renewal	10	115	1150	150	1787	1937	3087
1113917	KHILESHWAR KUMAR SAHU	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Date: 11/02/2017

Sanction Number: R/6/1645/3/10/76498

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1114359	SHRIKANT SAHU	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
1114622	TOMESHWARI SAHU	Female	B. Sc./Science/II	Renewal	10	115	1150	150	1787	1937	3087
1115609	hulash ram	Male	B. Com./Commerce/II	Renewal	10	105	1050	150	1902	2052	3102
1116088	SHUBHAM KUMAR	Male	B. Com./Commerce/II	Renewal	10	105	1050	150	1902	2052	3102
1116168	TOMESHWAR CHAKRADHARI	Male	B. A./Arts/II	Renewal	10	105	1050	150	1902	2052	3102
1117308	VINOD KUMAR	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
1119455	CHANDRAHAS YADU	Male	B. A./Arts/II	Renewal	10	105	1050	150	1902	2052	3102
1119681	DHARMIN SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
1120218	MINESHWAR SAHU	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
1120615	DAMAN RAM	Male	B. Com./Commerce/II	Renewal	10	105	1050	150	1902	2052	3102
1120870	nisha bais	Female	M. A./Economics/II	Renewal	10	120	1200	0	1957	1957	3157
1122684	ARCHANA YADAV	Female	B. A./Arts/III	Renewal	10	115	1150	150	1787	1937	3087
1123107	DOMAN LAL	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
1124106	SATISH KUMAR	Male	B. A./Arts/II	Renewal	10	105	1050	150	1902	2052	3102
1124373	VIDYA BAIS	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
1125542	KOMENDRA KUMAR	Male	B. A./Arts/II	Renewal	10	105	1050	150	1902	2052	3102
1129731	TANUJA SAHU	Female	B. Sc./Science/II	Renewal	10	115	1150	150	1787	1937	3087
1129871	LOMESH KUMAR SAHU	Male	B. Sc./Science/II	Renewal	10	105	1050	150	1902	2052	3102

Declaration:

Place : Date :





Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Date: 11/02/2017

Sanction Number: R/6/1645/3/10/76498

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1130511	RAJKUMARI SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
1131355	DHAMESHWARI SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
1133544	YOGITA SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
1135902	SIYA RAM	Male	B. Com./Commerce/III	Renewal	10	105	1050	150	1902	2052	3102
1136813	VEENA SAHU	Female	M. A./Economics/III	Renewal	10	120	1200	0	1957	1957	3157
1138116	PUSHPLATA SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
1138145	GHANSHYAM SAHU	Male	B. Sc./Science/II	Renewal	10	105	1050	150	1902	2052	3102
1141537	KHILESHWAR KUMAR SAHU	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
1143521	SIMANT BAIS	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
1149793	SURESH KUMAR	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
1156013	SHAIWYA RANI	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1787	1937	3087
1197704	HEMLATA SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
1221685	SHITAL KUMAR	Male	B. A./Arts/II	Renewal	10	105	1050	150	1902	2052	3102
1223169	ONKAR CHAKRADHARI	Male	B. Com./Commerce/II	Renewal	10	105	1050	150	1902	2052	3102
1223304	TAKESHWAR KUMAR	Male	B. Com./Commerce/II	Renewal	10	105	1050	150	1902	2052	3102
1223452	TOMESHWARI BAIS	Female	M. A./Hindi/III	Renewal	10	120	1200	150	1957	2107	3307
1224890	RUPESH KUMAR	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
1225469	TIKESHWARI BAIS	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: R/6/1645/3/10/76498

Sanction Date: 11/02/2017

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1226175	LOKESHWARI SAHU	Female	B. Com./Commerce/III	Renewal	10	115	1150	150	1787	1937	3087
1226290	LUKESHWARI SAHU	Female	B. Com./Commerce/III	Renewal	10	115	1150	150	1787	1937	3087
1230201	EGAN KUMAR SAHU	Male	B. A./Arts/II	Renewal	10	105	1050	150	1902	2052	3102
1230645	CHAMELI SAHU	Female	B. Com./Commerce/III	Renewal	10	115	1150	150	1787	1937	3087
1231138	JYOTI SINHA	Female	B. Sc./Science/II	Renewal	10	110	1100	150	1997	2147	3247
1231436	MANJULA SAHU	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1802	1952	3102
1231850	PUSHPANJALI SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
1233055	HOMESHWARI SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
1233700	OMIN SAHU	Female	M. A./Hindi/II	Renewal	10	120	1200	150	1957	2107	3307
1234224	HARSHAD KUMAR	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
1235809	MADHAWI SAHU	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1787	1937	3087
1239146	TAMESHWAREE SAHU	Female	B. A./Arts/III	Renewal	10	115	1150	150	1787	1937	3087
1239274	BHUPESHWARI SAHU	Female	B. A./Arts/III	Renewal	10	115	1150	150	1787	1937	3087
1239427	ASRAJ SAHU	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
1239535	KALYANI SAHU	Female	B. A./Arts/III	Renewal	9	115	1035	150	1787	1937	2972
1241220	CHAITANYA KUMAR DEWANGAN	Male	B. Com./Commerce/III	Renewal	10	105	1050	150	1902	2052	3102
1241366	SUDHA SAHU	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1787	1937	3087

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

· ·

Sanction Date: 11/02/2017

Sanction Number: R/6/1645/3/10/76498

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1244598	POONAM SAHU	Female	B. Sc./Science/II	Renewal	9	115	1035	150	1787	1937	2972
1246098	NEELAM SAHU	Female	B. A./Arts/III	Renewal	10	115	1150	150	1787	1937	3087
1246423	YOGESHWAR SAHU	Male	M. A./Economics/III	Renewal	10	105	1050	150	2072	2222	3272
1246611	REKHA SAHU	Female	B. A./Arts/III	Renewal	10	115	1150	150	1787	1937	3087
1247224	DHAKESHWAR RAM	Male	M. A./Hindi/III	Renewal	10	105	1050	150	2072	2222	3272
1247325	ANKIT KUMAR	Male	B. Com./Commerce/III	Renewal	10	105	1050	150	1902	2052	3102
1248916	NANDLAL NISHAD	Male	B. A./Arts/III	Renewal	9	105	945	150	1902	2052	2997
1250827	OM PRAKASH	Male	B. A./Arts/II	Renewal	9	105	945	150	1902	2052	2997
1251222	REKHRAJ SAHU	Male	B. Com./Commerce/II	Renewal	10	105	1050	150	1902	2052	3102
1251267	RUPESH KUMAR	Male	B. Sc./Science/II	Renewal	9	105	945	150	1902	2052	2997
1252447	LALITA NISHAD	Female	M. A./Hindi/II	Renewal	10	120	1200	150	1957	2107	3307
1254316	HUMESHWARI SAHU	Female	M. A./Hindi/II	Renewal	10	120	1200	150	1957	2107	3307
1255155	ONISHA SAHU	Female	B. Sc./Science/II	Renewal	9	115	1035	150	1787	1937	2972
1255634	KIRAN SAHU	Female	B. Sc./Science/II	Renewal	9	115	1035	150	1787	1937	2972
1255943	KU. CHHANYA SAHU	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1787	1937	3087
1257668	JITENDRA KUMAR	Male	B. A./Arts/II	Renewal	9	105	945	150	1902	2052	2997
1262138	JHARANA SAHU	Female	B. Sc./Science/II	Renewal	9	115	1035	150	1787	1937	2972
1262483	BHUPENDRA KUMAR	Male	B. Sc./Science/II	Renewal	9	105	945	150	1902	2052	2997

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

•

Sanction Date: 11/02/2017

Sanction Number: R/6/1645/3/10/76498

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1263291	GULSHAN KUMAR	Male	B. A./Arts/II	Renewal	9	105	945	150	1902	2052	2997
1264289	KULDEEP KUMAR	Male	M. Com./Commerce/III	Renewal	10	100	1000	150	2072	2222	3222
1267529	PUNAM CHAND SAHU	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
1267849	THANESHWARI SAHU	Female	M. Com./Commerce/II	Renewal	10	120	1200	150	2072	2222	3422
1268167	OJESH KUMAR	Male	B. A./Arts/II	Renewal	10	105	1050	150	1902	2052	3102
459471	THAMESHWAR KUMAR DHOBI	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
459481	MEENA DEWANGAN	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1787	1937	3087
459484	KUMARI CHETNA SAHU	Female	B. A./Arts/III	Renewal	10	115	1150	150	1902	2052	3202
459491	HEMANT KUMAR SAHU	Male	B. A./Arts/III	Renewal	9	105	945	150	1902	2052	2997
484641	KAMATI SAHU	Female	B. A./Arts/III	Renewal	10	115	1150	150	1902	2052	3202
484706	MANISHA SAHU	Female	B. Sc./Science/II	Renewal	9	115	1035	150	1902	2052	3087
484801	NAGENDRA KUMAR	Male	B. Sc./Science/II	Renewal	9	105	945	150	1902	2052	2997
523894	PEMIN SAHU	Female	B. Sc./Science/II	Renewal	10	115	1150	150	1902	2052	3202
612685	ASHWARYA KUMAR SAHU	Male	B. Sc./Science/II	Renewal	9	105	945	150	1902	2052	2997
612879	DIKESHWAR SAHU	Male	B. Sc./Science/II	Renewal	10	105	1050	150	1902	2052	3102
618409	ANGESHWAR KUMAR SAHU	Male	B. Sc./Science/II	Renewal	9	105	945	150	1902	2052	2997
636747	GAJENDRA KUMAR	Male	B. A./Arts/II	Renewal	9	105	945	150	1902	2052	2997
638111	ANIL KUMAR	Male	B. A./Arts/II	Renewal	9	105	945	150	1902	2052	2997

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Date: 11/02/2017

Sanction Number: R/6/1645/3/10/76498

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
638183	SONIYA SAHU	Female	B. A./Arts/II	Renewal	9	115	1035	150	1902	2052	3087
638222	DAMESHWARI SINHA	Female	B. Sc./Science/II	Renewal	9	115	1035	150	1902	2052	3087
656921	KISHAN KUMAR SAHU	Male	B. Sc./Science/II	Renewal	9	105	945	150	1902	2052	2997
670591	YOGENDRA KUMAR NONAME	Male	B. Com./Commerce/II	Renewal	10	105	1050	150	1902	2052	3102
674716	MAMTA SAHU	Female	B. Com./Commerce/III	Renewal	10	115	1150	150	1787	1937	3087
679100	MAMTA CHADRAKAR	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1787	1937	3087
679266	Vidya Sahu	Female	B. Com./Commerce/II	Renewal	10	115	1150	150	1787	1937	3087
680336	PALLAVI SAHU	Male	B. A./Arts/II	Renewal	10	105	1050	150	1902	2052	3102
683649	ANURAG SINGH SINHA	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
685301	Rakhi Sahu	Female	B. A./Arts/III	Renewal	10	115	1150	150	1787	1937	3087
685320	Rekha Sahu	Female	B. A./Arts/III	Renewal	10	115	1150	150	1787	1937	3087
687940	JYOTI SAHU	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1787	1937	3087
688603	YASHPAL SAHU	Male	B. A./Arts/II	Renewal	10	105	1050	150	1902	2052	3102
688697	POSHAN LAL SAHU	Male	B. Com./Commerce/II	Renewal	10	105	1050	150	1902	2052	3102
691870	MANISH KUMAR	Male	B. Com./Commerce/II	Renewal	10	105	1050	150	1902	2052	3102
696179	Yuvraj kumar sahu	Male	B. Com./Commerce/II	Renewal	10	105	1050	150	1902	2052	3102
703471	GITANJALI SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
706627	ANJU SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

•

Sanction Date: 11/02/2017

Sanction Number: R/6/1645/3/10/76498

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
711006	KUMLESHWARI NISHAD	Female	B. Sc./Science/II	Renewal	10	115	1150	150	1787	1937	3087
711034	KRISHNA PAL	Male	B. A./Arts/II	Renewal	10	105	1050	150	1902	2052	3102
711056	KAVITA SARWA	Female	B. Sc./Science/II	Renewal	10	115	1150	150	1787	1937	3087
716876	VAIBHAV SONI	Male	B. A./Arts/II	Renewal	10	105	1050	150	1902	2052	3102
716913	VINDHYA BAIS	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
717266	TEJESHWAR BAIS	Male	B. A./Arts/II	Renewal	10	105	1050	150	1902	2052	3102
717281	TAMESHWARI SAHU	Female	B. Com./Commerce/III	Renewal	10	115	1150	150	1787	1937	3087
717295	TAMESHWAR RAWAT	Male	B. Com./Commerce/II	Renewal	10	105	1050	150	1902	2052	3102
717625	JHARNA SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
717789	CHANDRAPRABHA SAHU	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1787	1937	3087
720658	PURAN KUMAR	Male	B. A./Arts/II	Renewal	10	105	1050	150	1902	2052	3102
720675	PREMCHAND SAHU	Male	B. Com./Commerce/II	Renewal	10	105	1050	150	1902	2052	3102
721706	LILESHWARI SAHU	Female	B. Sc./Science/II	Renewal	10	115	1150	150	1787	1937	3087
721886	LUKESHWARI SAHU	Female	B. Sc./Science/II	Renewal	10	115	1150	150	1787	1937	3087
722012	MUKESHWARI SAHU	Female	B. Sc./Science/II	Renewal	10	115	1150	150	1787	1937	3087
750932	YASHWANT KUMAR SAHU	Male	B. Com./Commerce/II	Renewal	10	105	1050	150	1902	2052	3102
751043	MUKESH NIRMALKAR DHOBI	Male	B. Com./Commerce/II	Renewal	10	105	1050	150	1902	2052	3102
752665	YASHWANT KUMAR PATEL	Male	B. A./Arts/II	Renewal	10	105	1050	150	1902	2052	3102

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

•

Sanction Date: 11/02/2017

Sanction Number: R/6/1645/3/10/76498

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
754622	DAMESHWARI SINHA	Female	B. Sc./Science/II	Renewal	10	115	1150	150	1787	1937	3087
774414	vedprakash sahu	Male	B. Sc./Science/II	Renewal	10	105	1050	150	1902	2052	3102
928259	PRADEEP KUMAR SINHA	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
955549	TUMESH KUMAR SAHU	Male	B. Com./Commerce/III	Renewal	10	105	1050	150	1902	2052	3102
982475	PUNARAD RAM CHAKRADHARI	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
985179	yugwani sahu	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1787	1937	3087
998977	NAGESH KUMAR SAHU	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
1000365	TIKESHWAREE SAHU	Female	B. A./Arts/III	Renewal	10	115	1150	150	1787	1937	3087
1000531	NITESH KUMAR SAHU	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
1005189	TARUN KUMAR	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
1021459	DHATRI SAHU	Female	B. Com./Commerce/III	Renewal	10	115	1150	150	1787	1937	3087
1023109	SANJAY KUMAR SAHU	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
1024180	JITENDRA KUMAR	Male	B. A./Arts/II	Renewal	10	105	1050	150	1902	2052	3102
1026545	KHILESHWAR SINGH SAHU	Male	B. Com./Commerce/III	Renewal	10	105	1050	150	1902	2052	3102
1036282	CHANDRAPRABHA SAHU	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1787	1937	3087
1041645	PUSHPA RAWAT	Female	B. A./Arts/III	Renewal	10	115	1150	150	1787	1937	3087
1063361	KAMALKANT YADAW	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
1112905	MOHNISH KUMAR	Male	B. Com./Commerce/II	Renewal	10	105	1050	150	1902	2052	3102

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: R/6/1645/3/10/76498

Sanction Date: 11/02/2017

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1113534	RAKESH KUMAR	Male	B. A./Arts/II	Renewal	10	105	1050	150	1902	2052	3102
1113912	DILESHWAR KUMAR	Male	B. Com./Commerce/II	Renewal	10	105	1050	150	1902	2052	3102
1115761	CHANDANI SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
1115952	MANOJ KUMAR	Male	B. A./Arts/II	Renewal	10	105	1050	150	1902	2052	3102
1116002	SOHAN KUMAR	Male	B. A./Arts/II	Renewal	10	105	1050	150	1902	2052	3102
1117011	UMABHARTI SAHU	Female	B. A./Arts/III	Renewal	10	115	1150	150	1787	1937	3087
1117455	UTTAM KUMAR	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
1117586	KAMLESHWAR KUMAR	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
1119093	FALESH KUMAR	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
1121622	KUMARI LILIMA	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
1127011	ARJUN SINHA	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
1130503	DINESH KUMAR	Male	B. Sc./Science/II	Renewal	10	105	1050	150	1902	2052	3102
1137415	NEELAM SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
1141639	UMA SAHU	Female	B. A./Arts/III	Renewal	10	115	1150	150	1787	1937	3087
1142846	TUMESHWAR KUMAR	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
1146860	SHATRUHAN LAL	Male	B. Com./Commerce/III	Renewal	10	105	1050	150	1902	2052	3102
1147508	HOMESHWARI SONKAR	Female	B. A./Arts/III	Renewal	10	115	1150	150	1787	1937	3087
1148035	TIKESHWAR KUMAR SAHU	Male	B. A./Arts/II	Renewal	10	105	1050	150	1902	2052	3102

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

State: Government of Chhattisgarh

Category: OBC

Sanction Number: R/6/1645/3/10/76498

Institute Name: GOVT. COLLEGE BHAKHARA

Sanction Date: 11/02/2017

Academic Year: 2016 - 17

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1149376	PAYAL SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
1149745	RAMESHWAR KUMAR	Male	B. A./Arts/III	Renewal	10	105	1050	150	1902	2052	3102
1154686	KUMARI MAMTA	Female	B. A./Arts/III	Renewal	10	115	1150	150	1787	1937	3087
1155626	KUSHAL KUMAR	Male	B. Com./Commerce/II	Renewal	10	105	1050	150	1902	2052	3102
1155990	OMLATA BAIS	Female	B. A./Arts/III	Renewal	10	115	1150	150	1787	1937	3087
1174156	JASHWANI SAHU	Female	B. Sc./Science/II	Renewal	10	115	1150	150	1787	1937	3087
1211909	PRIYANKA SAHU	Female	B. Sc./Science/II	Renewal	10	115	1150	150	1787	1937	3087
1232678	HEMLATA SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
1243273	HIRENDRA KUMAR	Male	B. Sc./Science/II	Renewal	9	105	945	150	1902	2052	2997
1269943	JYOTI VAISHNAV	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1787	1937	3087
1271259	DEVENDRA KUMAR	Male	B. Com./Commerce/III	Renewal	10	105	1050	150	1902	2052	3102
1271890	NAND KUMAR	Male	B. Sc./Science/III	Renewal	9	115	1035	150	1787	1937	2972
1272543	MANISHA SONKAR	Female	B. Sc./Science/III	Renewal	10	115	1150	150	1787	1937	3087
1274124	KOMIN SAHU	Female	B. Sc./Science/II	Renewal	9	115	1035	150	1787	1937	2972
1274177	YAMAN KUMAR	Male	B. Sc./Science/II	Renewal	10	105	1050	150	1902	2052	3102
1284606	BHARTI SAHU	Female	B. Sc./Science/II	Renewal	10	115	1150	150	1787	1937	3087
1289607	TARUN KUMAR	Male	B. Sc./Science/II	Renewal	10	105	1050	150	1902	2052	3102
1290897	JHAMMAN PAL	Male	B. Sc./Science/II	Renewal	10	105	1050	150	1902	2052	3102

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

•

Sanction Date: 11/02/2017

Sanction Number: R/6/1645/3/10/76498

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1291079	OMPRAKASH SAHU	Male	B. A./Arts/II	Renewal	10	105	1050	150	1902	2052	3102
1292766	KU. PURNIMA SAHU	Female	B. A./Arts/III	Renewal	10	115	1150	150	1787	1937	3087
1294002	RAHUL MANIKPURI	Male	B. Sc./Science/II	Renewal	10	105	1050	150	1902	2052	3102
1297728	PAWAN KUMAR	Male	B. Com./Commerce/II	Renewal	10	105	1050	150	1902	2052	3102
1301962	HUPENDRA KUMAR	Male	B. Com./Commerce/III	Renewal	8	105	840	150	1902	2052	2892
1303860	TEJKUMAR YADAW	Male	B. Sc./Science/III	Renewal	10	105	1050	150	1902	2052	3102
1304422	LEKHRAM SAHU	Male	M. A./Hindi/II	Renewal	10	105	1050	150	2072	2222	3272
1304587	JITENDRA KUMAR	Male	B. Com./Commerce/II	Renewal	10	105	1050	150	1902	2052	3102
1304764	BHUPENDRA KUMAR	Male	B. Com./Commerce/II	Renewal	10	105	1050	150	1902	2052	3102
1304890	RAVI KUMAR	Male	B. Com./Commerce/II	Renewal	10	105	1050	150	1902	2052	3102
1306283	DAYASHANKAR NISHAD	Male	B. Com./Commerce/III	Renewal	9	105	945	150	1902	2052	2997
1306414	HOMESHWARI SONKAR	Female	B. A./Arts/III	Renewal	10	115	1150	150	1787	1937	3087
1310532	DEVENDRA KUMAR SAHU	Male	B. Sc./Science/II	Renewal	10	105	1050	150	1902	2052	3102
1310772	KAJAL SAHU	Female	B. Sc./Science/II	Renewal	10	115	1150	150	1787	1937	3087
1311133	SEETARAM SINHA	Male	B. Com./Commerce/III	Renewal	10	105	1050	150	1902	2052	3102
1311794	DAMINI SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087
1312871	DEEPAK KUMAR	Male	B. A./Arts/III	Renewal	9	105	945	150	1902	2052	2997
1313152	LOCHNA SAHU	Female	B. A./Arts/II	Renewal	10	115	1150	150	1787	1937	3087

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: R/6/1645/3/10/76498

Sanction Date: 11/02/2017

Applications Type: Renewal

Declaration:

Place:

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship

State: Government of Chhattisgarh

Category: SC

Sanction Number: N/6/1645/1/9/76407

Institute Name: GOVT. COLLEGE BHAKHARA

Sanction Date: 11/02/2017

Academic Year: 2016 - 17

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
139340	NEELIMA DONGRE	Female	PGDCA/Computer Application/I	Fresh	10	530	5300	11000	3982	14982	20282
147163	KUMARI LALITA	Female	D. C. A./Diploma in Computer application/I	Fresh	9	230	2070	7000	3982	10982	13052
148768	MAKSUDAN SATNAMI	Male	M. A./Economics/I	Fresh	9	530	4770	0	1957	1957	6727
207890	Surendra Kumar	Male	D. C. A./Diploma in Computer application/I	Fresh	8	230	1840	7000	3982	10982	12822
685092	PREM LAL BAGHAEL	Male	PGDCA/Computer Application/I	Fresh	10	530	5300	11000	3982	14982	20282
223661	DEVSHREE KURRE	Female	M. A./Hindi/I	Fresh	10	530	5300	150	1957	2107	7407
160576	NARAD KUMAR	Male	PGDCA/Computer Application/I	Fresh	9	530	4770	11000	3982	14982	19752
371942	NAMITA KUMARI	Female	M. Com./Commerce/I	Fresh	9	530	4770	150	1957	2107	6877
240538	YOGENDRA KUMAR	Male	D. C. A./Diploma in Computer application/I	Fresh	9	230	2070	7000	3982	10982	13052
980981	PRABHAT KUMAR KURRE	Male	B. Sc./Science/I	Fresh	10	300	3000	150	1997	2147	5147
932810	UMESH KUMAR NONAME	Male	B. Sc./Science/I	Fresh	10	300	3000	150	1997	2147	5147
998844	VIJAY KUMAR JAGNAYAK	Male	PGDCA/Computer Application/I	Fresh	10	530	5300	11000	3862	14862	20162
694073	DIVYA KURRE	Female	D. C. A./Diploma in Computer application/I	Fresh	10	230	2300	7000	3982	10982	13282

Declaration:

Place :

(Signature & Seal of Head of the Institution) Name (Capital Leters) :

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: N/6/1645/1/9/76407

Sanction Date: 11/02/2017

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
705360	PREMCHAND KURREY	Male	D. C. A./Diploma in Computer application/I	Fresh	9	230	2070	7000	3982	10982	13052
908421	KALESHWAR RATRE	Male	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
694035	BHUPATI MARKANDEY	Male	B. Sc./Science/I	Fresh	10	300	3000	150	1997	2147	5147
977350	PRITI SONWANI	Female	B. Sc./Science/I	Fresh	10	300	3000	150	1997	2147	5147
957747	AMIT NO sARNEM	Male	B. Sc./Science/I	Fresh	9	300	2700	150	1997	2147	4847
704652	CHANDRA KUMAR TANDAN	Male	D. C. A./Diploma in Computer application/I	Fresh	10	230	2300	7000	3982	10982	13282
991189	PRITI DESHLAHARE	Female	B. Com./Commerce/I	Fresh	10	300	3000	150	1997	2147	5147
941264	SARLA SONWANI	Female	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
1223047	RUPENDRA KUMAR	Male	M. A./Economics/I	Fresh	9	530	4770	0	1957	1957	6727
1223482	KHILESHWARI BANJARE	Female	PGDCA/Computer Application/I	Fresh	10	530	5300	11000	3982	14982	20282
1223760	sohadra CHANDEL	Female	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
1232369	NOMESHWARI MAHAR	Female	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
1232986	CHANDRASHEKHAR CHANDEL	Male	M. A./Hindi/I	Fresh	10	530	5300	150	1957	2107	7407
1233015	YAMUNA PATELA	Female	B. Sc./Science/I	Fresh	10	300	3000	150	1997	2147	5147
1228457	lokesh kumar lahare	Male	M. A./Economics/I	Fresh	8	530	4240	0	1957	1957	6197

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: N/6/1645/1/9/76407

Sanction Date: 11/02/2017

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Type	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1233691	BHANSING MIRE	Male	PGDCA/Computer Application/I	Fresh	10	530	5300	11000	3982	14982	20282
1087032	PUSHPENDRA KUMAR SAYTODE	Male	M. A./Economics/I	Fresh	9	530	4770	0	1957	1957	6727
1234192	NARESH KUMAR	Male	PGDCA/Computer Application/I	Fresh	9	530	4770	11000	3982	14982	19752
1240250	KAMAL KUMAR	Male	B. Sc./Science/I	Fresh	10	300	3000	150	1997	2147	5147
1236199	MANOJ KUMAR	Male	D. C. A./Diploma in Computer application/I	Fresh	10	230	2300	7000	3982	10982	13282
1241031	BHIGESHWARI LAHRE	Female	B. A./Arts/I	Fresh	9	300	2700	150	1997	2147	4847
1240874	BHAVESH KUMAR BANJARE	Male	B. Com./Commerce/I	Fresh	10	300	3000	150	1997	2147	5147
1241145	PREMLAL JANGDE	Male	B. A./Arts/I	Fresh	9	300	2700	150	1997	2147	4847
1035627	NEETA DESHLAHARA	Female	PGDCA/Computer Application/I	Fresh	9	530	4770	11000	3982	14982	19752
1245458	LALITA KURRE	Female	B. A./Arts/I	Fresh	9	300	2700	150	1997	2147	4847
1245856	JAGRITI MANDLE	Female	D. C. A./Diploma in Computer application/I	Fresh	10	230	2300	7000	3982	10982	13282
1017703	RAMESH KUMAR	Male	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
1017740	SAGAR KUMAR	Male	B. Com./Commerce/I	Fresh	10	300	3000	150	1997	2147	5147
1041447	ARCHANA MARKANDEY	Female	B. Sc./Science/I	Fresh	10	300	3000	150	1997	2147	5147
1067366	RAKESH KUMAR	Male	B. Com./Commerce/I	Fresh	10	300	3000	150	1997	2147	5147

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: N/6/1645/1/9/76407

Sanction Date : 11/02/2017

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Type	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1105298	MANJU MARKANDE	Female	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
1246070	kaushal kumar	Male	B. Com./Commerce/I	Fresh	10	300	3000	150	1997	2147	5147
1246116	VED PRAKASH	Male	B. Sc./Science/I	Fresh	10	300	3000	150	1997	2147	5147
1250460	KU. LINIMA RATRE	Female	B. Sc./Science/I	Fresh	10	300	3000	150	1997	2147	5147
1252882	KAMAL NARAYAN LAHRE	Male	D. C. A./Diploma in Computer application/I	Fresh	8	230	1840	7000	3982	10982	12822
1253205	VIDYA LAHRE	Female	B. Sc./Science/I	Fresh	10	300	3000	150	1997	2147	5147
1254013	SHAILENDRA KUMAR	Male	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
1254601	BHAVESH KUMAR	Male	B. Sc./Science/I	Fresh	10	300	3000	150	1997	2147	5147
1255038	SHESH KUMAR	Male	B. Com./Commerce/I	Fresh	10	300	3000	150	1997	2147	5147
1259743	DIVYARANI BAGH	Female	B. A./Arts/I	Fresh	9	300	2700	150	1997	2147	4847
1275295	BHOJRAM TANDAN	Male	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
1292115	BHUPENDRA SINGH	Male	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
1292150	YUVRAJ BAGHEL	Male	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
1296913	BHAMA CHHEKAR	Female	B. Com./Commerce/I	Fresh	10	300	3000	150	1997	2147	5147
1297238	RAHUL RATRE	Male	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
1297538	RAKESH KUMAR TANDAN	Male	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
1298711	SAVITRI TANDON	Female	B. Com./Commerce/I	Fresh	10	300	3000	150	1997	2147	5147

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: N/6/1645/1/9/76407

Institute Name: GOVT. COLLEGE BHAKHARA

Sanction Date: 11/02/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1302202	KANCHAN SONWANI	Female	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
1302275	SUMEEN CHATURVEDI	Female	B. Sc./Science/I	Fresh	10	300	3000	150	1997	2147	5147
1302294	SANDHYA DESHLAHRE	Female	B. Com./Commerce/I	Fresh	10	300	3000	150	1997	2147	5147
1306081	MADHURI MARKANDE	Female	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
1311020	LINIMA RATRE	Female	B. Sc./Science/I	Fresh	10	300	3000	150	1997	2147	5147
						Total :	215320	157600	163150	320750	536070

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: R/6/1645/1/9/76501

Sanction Date: 11/02/2017

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
146171	KAMESHWAR KUMAR KOSRE	Male	M. Com./Commerce/II	Renewal	10	530	5300	150	1957	2107	7407
154797	SUMITRA SATNAMI	Female	B. A./Arts/II	Renewal	9	300	2700	150	1787	1937	4637
209935	GOVINDA CHATURVEDI	Male	B. A./Arts/III	Renewal	10	300	3000	150	1787	1937	4937
234297	PRADEEP KUMAR	Male	B. Sc./Science/III	Renewal	10	300	3000	150	1787	1937	4937
234439	DEMAN SING	Male	B. A./Arts/III	Renewal	10	300	3000	150	1787	1937	4937
150826	GOVINDA BANJARE	Male	M. A./Hindi/II	Renewal	10	530	5300	150	1957	2107	7407
235703	PREETIBALA BANJARE	Female	B. Sc./Science/III	Renewal	10	300	3000	150	1787	1937	4937
235824	DIKSHA BANJARE	Female	B. Sc./Science/III	Renewal	10	300	3000	150	1787	1937	4937
237482	KARUNA KURRE	Female	B. Sc./Science/III	Renewal	10	300	3000	150	1787	1937	4937
520577	GOVINDA PAHITE	Male	B. Com./Commerce/III	Renewal	10	300	3000	150	1787	1937	4937
302313	MUKESH KUMAR	Male	B. Sc./Science/III	Renewal	10	300	3000	150	1787	1937	4937
276378	HIMANSHU KUMARI	Female	B. A./Arts/III	Renewal	9	300	2700	150	1787	1937	4637
663925	CHITREKHA BANJARE	Female	B. A./Arts/II	Renewal	10	300	3000	150	1787	1937	4937
710974	SAMA	Female	B. A./Arts/II	Renewal	10	300	3000	150	1787	1937	4937
672129	BHANUPRIYA SAYATODE	Female	B. A./Arts/II	Renewal	10	300	3000	150	1787	1937	4937
280046	BHUNESHWAR KUMAR	Male	B. A./Arts/III	Renewal	10	300	3000	150	1787	1937	4937
720027	HEMANT KUMAR SATNAMI	Male	B. Sc./Science/II	Renewal	10	300	3000	150	1787	1937	4937

Declaration:

Place :

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: R/6/1645/1/9/76501

Sanction Date : 11/02/2017

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
719962	PRAVIN KUMAR SATNAMI	Male	B. Sc./Science/II	Renewal	10	300	3000	150	1787	1937	4937
420349	Bharti Banjare	Female	B. Sc./Science/III	Renewal	10	300	3000	150	1787	1937	4937
387327	OMESH KUMAR	Male	B. Com./Commerce/III	Renewal	10	300	3000	150	1997	2147	5147
699475	Lallee Ratre	Female	B. Sc./Science/II	Renewal	10	300	3000	150	1787	1937	4937
1221739	DHANESHWARI KHUTE	Female	B. Com./Commerce/III	Renewal	10	300	3000	150	1787	1937	4937
1222931	NEHA BANJARE	Female	B. A./Arts/II	Renewal	10	300	3000	150	1787	1937	4937
1223645	MADHURI RATRE	Female	B. Sc./Science/II	Renewal	9	300	2700	150	1787	1937	4637
1223444	SUMEET KUMAR BANJARE	Male	B. Sc./Science/III	Renewal	10	300	3000	150	1787	1937	4937
1119125	SHASHI KALA SATNAMI	Female	B. Sc./Science/III	Renewal	9	300	2700	150	1787	1937	4637
1223688	YASH KUMARI	Female	B. Sc./Science/III	Renewal	9	300	2700	150	1787	1937	4637
1155072	DULESHWAR KUMAR	Male	B. A./Arts/III	Renewal	9	300	2700	150	1787	1937	4637
724307	YASHODA SATNAMI	Female	B. A./Arts/II	Renewal	10	300	3000	150	1787	1937	4937
1240890	MADHU DHIDHI	Female	B. Sc./Science/III	Renewal	10	300	3000	150	1787	1937	4937
1137661	KIRAN KHUTE	Female	B. A./Arts/II	Renewal	9	300	2700	150	1787	1937	4637
1246417	NEELAM SATNAMI	Female	B. A./Arts/III	Renewal	10	300	3000	150	1787	1937	4937
756721	Indal Mahilange	Male	B. Com./Commerce/II	Renewal	10	300	3000	150	1787	1937	4937
998534	JAGESHWARI SATNAMI	Female	B. Sc./Science/III	Renewal	10	300	3000	150	1787	1937	4937
724292	KHILESHWARI SATNAMI	Female	B. A./Arts/II	Renewal	10	300	3000	150	1787	1937	4937

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: R/6/1645/1/9/76501

Sanction Date : 11/02/2017

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1260411	TIKENDRA KUMAR	Male	B. A./Arts/II	Renewal	10	300	3000	150	1787	1937	4937
1275771	PARMESHWAR PATEL	Male	B. A./Arts/III	Renewal	10	300	3000	150	1787	1937	4937
950038	DHANENDRA KUMAR	Male	M. Com./Commerce/II	Renewal	9	530	4770	150	1957	2107	6877
1010468	KRISHNA GAYAKWAD	Female	B. Sc./Science/II	Renewal	9	300	2700	150	165	315	3015
724238	AISHWARYA SATNAMI	Female	B. A./Arts/II	Renewal	10	300	3000	150	1787	1937	4937
744338	NARENDRA SATNAMI	Male	B. Sc./Science/II	Renewal	10	300	3000	150	1787	1937	4937
1119495	NANDKISHOR SONWANI	Male	B. A./Arts/II	Renewal	9	300	2700	150	1787	1937	4637
1135670	RUPESHWARI KURRE	Female	B. A./Arts/II	Renewal	10	300	3000	150	1787	1937	4937
1136031	RACHNA MESHRAM	Female	B. A./Arts/II	Renewal	9	300	2700	150	1787	1937	4637
1153277	NANDANI KESHRI	Female	B. A./Arts/II	Renewal	9	300	2700	150	1787	1937	4637
1283398	DAKESHWAR SINGH	Male	B. Com./Commerce/II	Renewal	10	300	3000	150	1787	1937	4937
1294317	LOKESHWAR MARKANDE	Male	B. Sc./Science/III	Renewal	10	300	3000	150	1787	1937	4937
1297910	PREMNARAYAN BANJARE	Male	B. A./Arts/III	Renewal	10	300	3000	150	1787	1937	4937
1298041	SARVSATI OGARE	Female	B. A./Arts/II	Renewal	10	300	3000	150	1787	1937	4937
1306259	SHAILENDRA KUMAR	Male	B. A./Arts/II	Renewal	9	300	2700	150	1787	1937	4637
1310254	NANDANI BAGHEL	Female	B. A./Arts/II	Renewal	9	300	2700	150	1787	1937	4637
		-				Total :	155470	7650	90235	97885	253355

Declaration:

Place :

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: N/6/1645/2/7/76403

Sanction Date: 11/02/2017

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
153915	DURGESH KUMAR	Male	M. Com./Commerce/I	Fresh	10	530	5300	150	1957	2107	7407
293417	OGESHWARI KU	Female	M. A./Hindi/I	Fresh	10	530	5300	150	1957	2107	7407
314526	RADHA KANWAR	Female	PGDCA/Computer Application/I	Fresh	10	530	5300	11000	3982	14982	20282
514200	RITIKA DHRUW	Female	M. Com./Commerce/I	Fresh	10	530	5300	150	1957	2107	7407
595248	JITENDR KUMAR DHRUW	Male	M. A./Hindi/I	Fresh	9	530	4770	150	1777	1927	6697
514663	Mahendra Kumar	Male	M. A./Hindi/I	Fresh	9	530	4770	150	1957	2107	6877
744381	BHEMESHWARI DHRUW	Female	B. Sc./Science/I	Fresh	10	300	3000	150	1997	2147	5147
521529	TIKESHWARI THAKUR	Female	M. A./Economics/I	Fresh	10	530	5300	150	1957	2107	7407
707924	Chandrakala Diwan	Female	B. Sc./Science/I	Fresh	10	300	3000	150	1997	2147	5147
1118665	KUMARI RADHA	Female	PGDCA/Computer Application/I	Fresh	10	530	5300	11000	3982	14982	20282
1041220	LILESHWARI NAGVANSHI	Female	B. Sc./Science/I	Fresh	10	300	3000	150	1997	2147	5147
1105430	BHUMIKA DHRUW	Female	B. Com./Commerce/I	Fresh	10	300	3000	150	1787	1937	4937
1108735	lokeshwari GOND	Female	B. Com./Commerce/I	Fresh	10	300	3000	150	1997	2147	5147
1076214	ROMAN SINGH NETAM	Male	B. Sc./Science/I	Fresh	10	300	3000	150	1997	2147	5147
1105906	JAGENDRA KUMAR KANVAR	Male	B. Sc./Science/I	Fresh	10	300	3000	150	1997	2147	5147
1041071	GIRISH KUMAR DHRUW	Male	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number : N/6/1645/2/7/76403

Sanction Date: 11/02/2017

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1042471	JANAKI DHRUW	Female	B. Sc./Science/I	Fresh	10	300	3000	150	1997	2147	5147
1105912	NARENDRA KUMAR DHRUW	Male	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
1072417	PURAN SINGH	Male	B. Sc./Science/I	Fresh	10	300	3000	150	1997	2147	5147
957151	KUMARI TULSA	Female	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
976529	TUMESHWARI DHRUW	Female	B. Sc./Science/I	Fresh	10	300	3000	150	1997	2147	5147
1221263	ROHIT KUMAR	Male	B. Sc./Science/I	Fresh	10	300	3000	150	1997	2147	5147
1221296	MULESHWAR DHRUW	Male	M. A./Economics/I	Fresh	10	530	5300	150	1957	2107	7407
1222063	KHUBLAL DHRUW	Male	M. A./Economics/I	Fresh	10	530	5300	150	1957	2107	7407
1222977	DEVANAND NETAM	Male	B. A./Arts/I	Fresh	9	300	2700	150	1997	2147	4847
1228292	BHAWANA KANWAR	Female	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
1230691	PEETAMBER DHRUW	Male	M. A./Hindi/I	Fresh	10	530	5300	150	1997	2147	7447
1232386	KIRAN KANWAR	Female	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
1235225	KOMAL DHRUW	Male	B. Com./Commerce/I	Fresh	9	300	2700	150	1997	2147	4847
1225266	KHEMAN KUMAR	Male	B. Sc./Science/I	Fresh	10	300	3000	150	1997	2147	5147
1236465	DOMENDRA KUMAR	Male	B. Com./Commerce/I	Fresh	10	300	3000	150	1997	2147	5147
1238942	KHEMRAJ KANWAR	Male	B. Sc./Science/I	Fresh	10	300	3000	150	1997	2147	5147
1242727	SHAIL KUMARI KANWAR	Female	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: N/6/1645/2/7/76403

Sanction Date : 11/02/2017

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1238559	BHEEM KUMAR	Male	PGDCA/Computer Application/I	Fresh	10	530	5300	11000	3982	14982	20282
1246617	MUKESHWARI DHRUW	Female	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
1243544	DRON KUMAR	Male	B. Sc./Science/I	Fresh	10	300	3000	150	1997	2147	5147
1248064	LEENA DHRUW	Female	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
1124207	DHANESHWARI DHRUW	Female	M. A./Economics/I	Fresh	10	530	5300	150	1957	2107	7407
1252330	MONIKA DHRUW	Female	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
1252054	SHAKUNTALA THAKUR	Female	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
1264578	YOGESH KUMAR DHRUW	Male	B. Com./Commerce/I	Fresh	10	300	3000	150	1997	2147	5147
1266737	GULSHAN KUMAR	Male	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
1270098	DULARI DHRUW	Female	B. Sc./Science/I	Fresh	10	300	3000	150	1997	2147	5147
1270465	AKANKSHA DHRUW	Female	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
1270880	VIDYA KANWAR	Female	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
1272080	TEM SINGH	Male	B. Sc./Science/I	Fresh	10	300	3000	150	1997	2147	5147
1284450	SANTOSHI DHRUW	Female	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
1295705	DURGESHWARI THAKUR	Female	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
1295917	DEMIN THAKUR	Female	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
1310550	RAVEENA DHRUW	Female	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: N/6/1645/2/7/76403

Sanction Date : 11/02/2017

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1310738	FANESH KUMAR	Male	B. A./Arts/I	Fresh	10	300	3000	150	1997	2147	5147
						Total :	181240	40200	107052	147252	328492

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number : R/6/1645/2/7/76406

Sanction Date : 11/02/2017

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1245800	HEMANT NAGARCHI	Male	B. A./Arts/II	Renewal	9	300	2700	150	1997	2147	4847
210334	MEENA DHRUV	Female	B. Sc./Science/III	Renewal	9	300	2700	150	1787	1937	4637
219014	LEMIN KANWAR	Female	B. A./Arts/III	Renewal	10	300	3000	150	1787	1937	4937
226043	MAHESHWAR KANWAR	Male	B. Sc./Science/III	Renewal	10	300	3000	150	1787	1937	4937
416778	RAJESHWARI KANVAR	Female	B. A./Arts/III	Renewal	10	300	3000	150	1787	1937	4937
705674	GULSHAN KUMAR KANWAR	Male	B. Com./Commerce/II	Renewal	10	300	3000	150	1787	1937	4937
674165	REENA NETAM	Female	B. A./Arts/II	Renewal	9	300	2700	150	1787	1937	4637
273664	MINAKSHI KAVR	Female	B. A./Arts/II	Renewal	9	300	2700	150	1787	1937	4637
688976	PREETI NETAM	Female	B. A./Arts/II	Renewal	9	300	2700	150	1787	1937	4637
926553	CHUMMAN LAL	Male	B. Sc./Science/III	Renewal	10	300	3000	150	1997	2147	5147
1235300	HEMIN DHRUW	Female	B. A./Arts/II	Renewal	9	300	2700	150	1787	1937	4637
976077	DEEPAK KUMAR	Male	B. Sc./Science/III	Renewal	10	300	3000	150	1787	1937	4937
1071990	KUSUM DHRUW	Female	B. A./Arts/II	Renewal	9	300	2700	150	1787	1937	4637
1000414	LEELADHAR KANWAR	Male	M. A./Economics/III	Renewal	10	530	5300	150	1957	2107	7407
1000691	LOKESH KUMAR	Male	B. A./Arts/III	Renewal	10	300	3000	150	1787	1937	4937
957837	BEERU DHRU	Female	B. Com./Commerce/III	Renewal	10	300	3000	150	1787	1937	4937
874372	RAMESH KUMAR	Male	B. A./Arts/III	Renewal	10	300	3000	150	1787	1937	4937

Declaration:

Place :

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. COLLEGE BHAKHARA

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number : R/6/1645/2/7/76406

Sanction Date : 11/02/2017

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
217226	RAMESH KUMAR DHRUV	Male	B. A./Arts/III	Renewal	10	300	3000	150	1787	1937	4937
783704	TULSA DHRUW	Female	B. A./Arts/III	Renewal	10	300	3000	150	1787	1937	4937
1150675	PRAMILA MARKAM	Female	B. A./Arts/III	Renewal	10	300	3000	150	1787	1937	4937
1045507	PURNIMA KANVAR	Female	B. A./Arts/II	Renewal	10	300	3000	150	1787	1937	4937
1254031	HEMLATA DHRUW	Female	B. Sc./Science/III	Renewal	10	300	3000	150	1787	1937	4937
710429	NIRANJAN LAL	Male	B. Sc./Science/II	Renewal	9	300	2700	150	1787	1937	4637
	Total :							3450	41691	45141	114041

Declaration:

Place :

Date: